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Reasoning Aptitude  

Direction 1 to 3: Select the related word/letter/number from 
the given alternatives. 

 
1. JPC : GMZ : : PUV : ? 
 (A) MRS (B) MSR 
 (C) MQR (D) RMS 
 
2. KLMN : IJKL : : TUVW : ? 
 (A) RSUT (B) VWXY 
 (C) STUV (D) RSTU 
 
3. 5 : 130 : : 6 : ? 
 (A) 210 (B) 212 
 (C) 222 (D) 226 
 
Direction 4 to 6: Select the odd word/letter/number from given 

alternatives. 
 
4. (A) Quick : Fast  (B) Lazy : Slow  
 (C) Credible : Deceptive  (D) Exhaust : Tired  
 
5. (A) CD (B) PR 
 (C) ST (D) WX 
 
6. (A) 234 (B) 345 
 (C) 243 (D) 432 
 
7. Arrange the following words as per their order in the 

dictionary. 
 1. Globe 2. Group 
 3. Glitch 4. Gap 
 5. Glade 
 (A) 4, 2, 3, 5, 1 (B) 4, 5, 3, 2, 1 
 (C) 4, 3, 1, 2, 5 (D) 4, 5, 3, 1, 2 
 
Directions 8 and 9: A series is given with one term missing. 

Select the correct alternative from the given ones that 
will complete the series. 

 
8. 2, 4, 13, 41, 106, ? 
 (A) 172 (B) 191 
 (C) 219 (D) 232 
 
9. 7, 19, 42, 87, ? 
 (A) 136 (B) 176 
 (C) 172 (D) 216 
 
10. From the given alternative words, select the word which 

CANNOT be formed using the letters of the given word. 
 LEGISLATOR 
 (A) RAISE (B) GIST 
 (C) LEGAL (D) GREATER 
 
11. Present age of A is 2 times the present age of B. After 8 

years the B’s age will be 4 times of C’s present age. If 
C celebrated his fifth birthday 9 years ago, then what is 
the present age (in years) of A? 

 (A) 88 (B) 96 
 (C) 92 (D) 84 
 
12. Pearl Towers is taller than Sky Towers but shorter than 

Unity Towers. Unity Towers and Cyber Towers are of 
same height. Pearl Towers is shorter than Indus 
Towers. Amongst the buildings, who is the second 
shortest? 

 (A) Pearl Tower  (B) Sky Tower  
 (C) Indus Tower  (D) Unity Tower  
 
13. In a certain code language, ‘MATCH’ is written as 

‘NYWYM’ and ‘BOARD’ is written as ‘CMDNI’. How is 
‘PRINT’ written in that code language? 

 (A) YJLPQ (B) ZIMOR 
 (C) ROMIZ (D) QPLJY 
 
14. If ‘+’ denotes ‘divided by’, ‘×’ denotes ‘added to’, ‘÷’ 

denotes ‘subtracted from’ and ‘–’ denotes ‘multiplied 
by’, then 54 + 162 – 18 × 12 ÷ 6 = ? 

 (A) 4 (B) 16 
 (C) 12 (D) 10 
 
15. If (3)2 @ 1 * 7 = 98 and (4)2 @ 2 * 16 = 178, then (5)2 

@ 3 * 9 = ? 
 (A) 218 (B) 262 
 (C) 253 (D) 259 
 
16. In the following question, select the missing number 

from the given alternatives. 

  

 (A) 54 (B) 60 
 (C) 62 (D) 66 
 
17. How many triangles are there in the given figure? 

  

 (A) 11 (B) 12 
 (C) 13 (D) 15 
 
Directions 18: In the following question, three statements are 

given followed by two conclusions (I) and (II). You have 
to consider the statements to be true even if they seem 
to be at variance from commonly known facts. You 
have to decide which of the given conclusions, if any, 
follows from the given statements. 

 Give answer  
 (A) Only conclusion (I) follows.  
 (B) Only conclusion (II) follows.  
 (C) Both conclusions follow.  
 (D) Neither conclusion (I) nor conclusion (II) follows.  
 
18. Statements: I. All cups are plate.  
 II. No plate is a shop.  
 Conclusions: I. No cup is a shop.  
 II. No shop is a plate.  
 
19. Two positions of a cube are shown below. What will 

come opposite to face containing ‘B’? 

  

 (A) Q (B) T 
 (C) S (D) Q or T 
 
20. In the given figure, how many are musical toys? 

  

 (A) 53 (B) 61 
 (C) 42 (D) 45 
 
21. Select a figure from amongst the four alternatives which 

when placed in the blank space marked (?) would 
complete the pattern. 
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 Question figure  

  

 Answer figures  

  

 (A) 1 (B) 2 
 (C) 3 (D) 4 
 
22. From the given answer figures, select the one in which 

the question figure is hidden/embedded. 
 Question figure  

  

 Answer figures  

  

 (A) 1 (B) 2 
 (C) 3 (D) 4 
 
23. If a mirror is placed on the line MN, then which of the 

answer figures is the right image of the given figure? 
 Question figure  

  

 Answer figures  

  

 (A) 1 (B) 2 
 (C) 3 (D) 4 
 
24. A piece of paper is folded and punched as shown below 

in the question figures. From the given answer figures, 
indicate how it will appear when opened? 

 Question figures  

  

 Answer figures  

  

 (A) 1 (B) 2 
 (C) 3 (D) 4 
 
25. In a row of boys, Sarthak is 7th from the start and 11th 

from the end. In another row of boys, Vijay is 10th from 

the start and 12th from the end. How many boys are 
there in both the rows together? 

 (A) 38 (B) 32 
 (C) 40 (D) 48  
 
Direction 26 to 28: Select the related word/letter/number from 

the given alternatives. 
 
26. Mathematics : Formulas : : Chemistry : ? 
 (A) Reactions  (B) Organisms  
 (C) Theorems  (D) Gravity  
 
27. BPTW : CQUX : : CHNS : ? 
 (A) DIST (B) DIOT 
 (C) BGOT (D) DSTO 
 
28. 49 : 169 : : 36 : ? 
 (A) 126 (B) 132 
 (C) 144 (D) 162 
 
Direction 29 to 31: Select the odd word/letter/number from 

given alternatives. 
 
29. (A) Mobile  (B) Computer  
 (C) Fountain Pen  (D) Television  
 
30. (A) BN – P (B) GI – R 
 (C) LM – Y (D) TA – U 
 
31. (A) 26 (B) 50 
 (C) 82 (D) 120 
 
32. Arrange the following words as per their order in the 

dictionary. 
 1. Train 2. Topper 
 3. Tingling 4. Tumbler 
 5. Traction 
 (A) 2, 3, 5, 4, 1 (B) 3, 2, 1, 5, 4 
 (C) 2, 5, 3, 1, 4 (D) 3, 2, 5, 1, 4 
 
Directions 33 and 34: A series is given with one term missing. 

Select the correct alternative from the given ones that 
will complete the series. 

 
33. BT, DR, FP, ? 
 (A) HO (B) HN 
 (C) NH (D) OH 
 
34. FK27, LQ64, RW125, ? 
 (A) CX216 (B) XB216 
 (C) XC216 (D) YB343 
 
35. From the given alternative words, select the word which 

CANNOT be formed using the letters of the given word. 
 REASONABLE 
 (A) EASE (B) NOBLE 
 (C) SEASON (D) SOLAR 
 
36. Pointing to a lady, Diwakar said, “Her mother’s only 

grandson is my son.” How is that lady related to 
Diwakar? 

 (A) Aunty (B) Sister  
 (C) Mother  (D) Daughter  
 
37. In a certain code language, ‘PUNISHED’ is written as 

‘288’ and ‘TAILOR’ is written as ‘225’. How is 
‘RELEASED’ written in that code language? 

 (A) 207 (B) 237 
 (C) 225 (D) 243 
 
38. In a certain code language, ‘TREASON’ is written as 

‘RKWWINX’ and ‘POULTRY’ is written as ‘CNXHYKT’. 
How is ‘NUMBER’ written in that code language? 
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 (A) NIXQQR (B) JAIFAV 
 (C) RQQXIN (D) VAFIAJ 
 
39. If ‘P’ denotes ‘multiplied by’, ‘R’ denotes ‘subtracted 

from’, ‘S’ denotes ‘added to’ and ‘Q’ denotes ‘divided 
by’, then which of the following equation is true? 

 (A) 18 R 60 Q 15 S 2 = 8 (B) 15 S 16 Q 2 P 4 = 47 
 (C) 3 P 5 R 18 Q 3 = 6 (D) 15 S 28 Q 4 P 2 = 27 
 
40. In the following question, by using which mathematical 

operators will the expression become correct? 
 15 _ 3 _ 4 _ 20 
 (A) ×, ÷ and >  (B) ÷, × and <  
 (C) ÷, × and = (D) +, × and =  
 
41. If 13 # 9 = 94 and 18 # 7 = 100, then 24 # 6 = ? 
 (A) 121 (B) 113 
 (C) 148 (D) 115 
 
42. How many triangles are there in the given figure? 

  

 (A) 14 (B) 15 
 (C) 17 (D) 18 
 
Directions 43: In the following question, two statements are 

given followed by two conclusions (I) and (II). You have 
to consider the statements to be true even if they seem 
to be at variance from commonly known facts. You 
have to decide which of the given conclusions, if any, 
follows from the given statements. 

 Give answer  
 (A) Only conclusion (I) follows.  
 (B) Only conclusion (II) follows.  
 (C) Both conclusions follow.  
 (D) Neither conclusion (I) nor conclusion (II) follows.  
 
43. Statements: I. All books are erasers.  
 II. All sharpeners are books.  
 Conclusion: I. All sharpeners are erasers.  
 II. Some books are sharpeners.  
 
44. Three position of a cube are shown below. What will 

come opposite to face containing ‘N’? 

  

 (A) P (B) Q 
 (C) S (D) R 
 
45. Identify the diagram that best represents the 

relationship among the given classes. 
 Language, English, Kannada  

  

 (A) 1 (B) 2 
 (C) 3 (D) 4 
 
46. Select a figure from amongst the four alternatives which 

when placed in the blank space marked (?) would 
complete the pattern. 

 Question figure  

  

 Answer figures  

  

 (A) 1 (B) 2 
 (C) 3 (D) 4 
 
47. From the given answer figures, select the one in which 

the question figure is hidden/embedded. 
 Question figure  

  

 Answer figures  

  

 (A) 1 (B) 2 
 (C) 3 (D) 4 
 
48. If a mirror is placed on the line MN, then which of the 

answer figures is the right image of the given figure? 
 Question figure  

  

 Answer figures  

  

 (A) 1 (B) 2 
 (C) 3 (D) 4 
 
49. A piece of paper is folded and punched as shown below 

in the question figures. From the given answer figures, 
indicate how it will appear when opened? 

 Question figures  

  

 Answer figures  

  

 (A) 1 (B) 2 
 (C) 3 (D) 4 
 
50. A bus started from football stadium and drove 2 km 

towards East to reach the hostel. From hostel bus 
turned right and drove 4 km to reach the cricket 
stadium. From there it drove 3 km to left to reach the 
school. In which direction is the school with reference to 
the football stadium? 

  (A) South-West  (B) South-East  
 (C) North-West  (D) North-East  
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General Studies 

51. The energy emitted by the Sun is due to: 
 (A) Chemical reaction  (B) Nuclear fission  
 (C) Nuclear fusion  (D) All of the above  
 
52. Which of the following is ozone depleting pesticide? 
  (A) D.D.T.  (B) Benzene  
 (C) Methyl bromide  (D) Ethylene ozonide  
 
53. A liquid will not wet the surface of solid if the angle of 

contact is: 
 (A) Acute (B) Obtuse  

 (C) Zero (D) /2 

 
54. Global warming is mainly due to accumulation of: 
 (A) Oxides of nitrogen  (B) Oxides of sulphur  
 (C) Carbon dioxide  (D) Carbon Monoxide  
 
55. Right to Information (RTI) Act aims at to: 
 (A) Secure access to information from public authorities  
 (B) Provide information to public by a person who has 

got the information  
 (C) Provide information by Government on Public place  
 (D) Secure information by police from culprits  
 
56. Dynamo is a device for converting: 
 (A) Heat energy into electrical energy  
 (B) Mechanical energy into electrical energy  
 (C) Magnetic energy into electrical energy  
 (D) Chemical energy into electrical energy  
 
57. H2O is liquid and H2S is a gas because: 
 (A) oxygen forms stronger hydrogen bond than sulphur  
 (B) oxygen is less electronegative than sulphur  
 (C) atomic radius of oxygen is less than that of sulphur  
 (D) atomic radius of oxygen is greater than that of 

sulphur  
 
58. Which one of the following cannot be suspended or 

restricted even during national emergency? 
 (A) Right to reside and settle in any part of the country  
 (B) Right to life and personal liberty right  
 (C) Right to move freely throughout the territory of India  
 (D) Right to carry on any profession or business  
 
59. The Swadeshi Movement was launched: 
  (A) as a protest against division of Bengal  
 (B) with a view to improve the economic condition of 

the people by encouraging consumption of Indian 
goods  

 (C) as a protest against the massacre of Indian people 
at Jallianwala Bagh 

 (D) due to the failure of the British Government to 
introduce responsible Government in India  

 
60. The inner-most layer of the earth is known as: 
  (A) Lithosphere  (B) Mesosphere  
 (C) Asthenosphere  (D) Barysphere  
 
61. National Sports Day is observed on which date? 
 (A) 15 August  (B) 29 August  
 (C) 1 September  (D) 9 September  
 
62. Which one of the following is the correct sequence in 

the decreasing order of contribution of different sources 
to the Gross Domestic Product of India? 

 (A) Service-Industry-Agriculture  
 (B) Service-Agriculture-Industry  
 (C) Industry-Service-Agriculture  
 (D) Industry-Agriculture-Service  
 
63. Which of the following is a Navaratna PSE? 

 (A) Mahanagar Telephone Nigama Ltd.  
 (B) Container Corporation of India Ltd.  
 (C) MMTC Ltd.  
 (D) Coal India Ltd.  
 
64. The CBDT has extended the deadline for PAN-Aadhaar 

linking for filing IT returns to 31st March, 2020. Here 
‘PAN’ stands for? 

 (A) Permanent Account Number  
 (B) Personal Access Number  
 (C) Personal Account Number  
 (D) Postal Account Number  
 
65. Kalraj Mishra was sworn in as new Governor of which 

state in September 2019? 
 (A) Rajasthan  (B) Madhya Pradesh  
 (C) Kerala  (D) Orissa  
 
66. Who among the following was the founder of Bijapur 

State? 
 (A) Yusuf Adil Shah  (B) Murad II  
 (C) Mehmood II  (D) Ibrahim Zubayri  
 
67. Which one is the first city in India to have Wi-Fi 

connectivity in public places? 
 (A) Mumbai  (B) New Delhi  
 (C) Kolkata  (D) Chennai  
 
68. World longest Sandstone Cave discovered in ______. 
 (A) Meghalaya (B) Tripura  
 (C) Assam (D) Nagaland  
 
69. Who among the following built the Alai Darwaza? 
  (A) Akbar  (B) Jahangir  
 (C) Allaudin Khilji  (D) Humayun  
 
70. Which of the following rivers serves as a nesting ground 

for Olive Ridley turtles? 
 (A) Devi River  (B) Pennar River  
 (C) Hughli River  (D) Bhima River  
 
71. The northern most point of India is known as ______. 
  (A) Indira Heights  (B) Indira Col  
 (C) Indira Point  (D) None of these  
 
72. Who is the author of the book "Hemant Karkare : A 

Daughters Memoir"? 
  (A) Tui Karkare Navare  (B) Ajay Singh  
 (C) Arundhati Roy  (D) Chetan Bhagat  
 
73. The transport department of which state recently 

launched a helpline for women called "Damini"? 
  (A) Uttar Pradesh  (B) Uttarakhand  
 (C) Maharashtra  (D) Rajasthan  
 
74. Rasina Dialogue is an annual multi-lateral conference 

organized by which ministry? 
 (A) Ministry of external affairs  
 (B) Ministry of tourism  
 (C) Ministry of finance  
 (D) Ministry of corporate affairs  
 
75. Which Indian city hosted the All India Police Judo 

Cluster Championship 2019? 
 (A) Guwahati  (B) Cuttack  
 (C) New Delhi  (D) Goa  
 
76. Which among the following regulations made English 

as a medium of education compulsory in government 
aided schools and colleges? 

 (A) Pitts India act, 1784  
 (B) Educational Despatch, 1854  
 (C) Macaulay Minute, 1835  
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 (D) Regulation Act, 1773  
 
77. Fundamental Duties were added to the Constitution by: 
 (A) 24th Amendment  (B) 39th Amendment  
 (C) 42nd Amendment  (D) 44th Amendment  
 
78. The word ‘Hindus’ in Article 25 of the Constitution of 

India does not include? 
 (A) Buddhists  (B) Jains  
 (C) Sikhs  (D) Parsees  
 
79. Bahadur Shah II was: 
 (A) last ruler of the Lodis  
 (B) last Mughal Ruler  
 (C) Successor of Shershah  
 (D) Successor of the Maratha ruler Shivaji  
 
80. Which one of the following is an unpredictable natural 

disaster? 
 (A) Earthquake  (B) Cyclone  
 (C) Tornado  (D) Hurricane  
 
81. The Mughal Empire extended upto Tamil territory in the 

South under the reign of ______. 
 (A) Akbar  (B) Aurangzeb  
 (C) Jahangir  (D) Shahjahan  
 
82. Which of the following Pairs is the highest peak of 

India? 
 (A) Kanchenjunga  (B) Nanda Devi  
 (C) Rimo Peak  (D) Kamet  
 
83.  Where is the headquarter of SIDBI located? 
 (A) Lucknow (B) Mumbai  
 (C) Kanpur (D) Delhi  
 
84. India lies in the hemisphere ______. 
 (A) Northern and eastern  (B) Southern and eastern  
 (C) Northern and western  (D) Southern and western  
 
85. Where is the world's first yoga university outside India 

has been launched? 
 (A) Paris, France  (B) Los Angeles, US  
 (C) Brussels, Belgium  (D) Moscow, Russia  
 
86. Who was the chief guest of the official ceremony on the 

Indian Republic Day 2020? 
 (A) President of Brazil  (B) President of China  
 (C) President of France  (D) President of U.S.A.  
 
87. Which of the following has the largest area of forest on 

earth? 
  (A) USA  (B) China  
 (C) Russia  (D) South Africa  
 
88. Which of the following is the essential element for 

batteries used in electric cars? 
 (A) Magnesium  (B) Sodium  
 (C) Lithium  (D) Bromine  
 
89. Which of the following is not a free living bacteria that 

help in nitrogen fixation? 
 (A) Azotobacter  (B) Anabaena  
 (C) Moraxella  (D) Nostoc  
 
90. Which of the following gas is used in air conditioner? 
 (A) Hydrogen  (B) Carbon-dioxide  
 (C) Carbon monoxide  (D) Freon  
 
91. Nitrogen fixing bacteria a found in leguminous plant: 
 (A) Azotobacter  (B) Nitrobacter  
 (C) Rhizobia  (D) Pseudomonas  
 

92. Who has been appointed as first woman President of 
National Association of Software and Services 
Companies (NASSCOM)? 

 (A) Shankha Ghosh  (B) Badri Narain Sharma  
 (C) Debjani Ghosh  (D) None of the above  
 
93. Which of the following primarily causes lead pollution? 
 (A) CFL Lamp  (B) Automobile Battery  
 (C) Polymer  (D) Diesel Engine  
 
94. Which of the following has won the best actress award 

in the 2019 filmfare? 
 (A) Alia Bhatt  (B) Anuskha Sharma  
 (C) Deepika Padukone  (D) Aishwarya Rai  
 
95. In which of the following types of the economy are the 

factors of production owned individually? 
 (A) Socialist  (B) Capitalist  
 (C) Mixed  (D) Both (A) and (B) 
 
96. The first heavy electrical equipment manufacturing 

plant set up in the public sector in 1960 is at: 
 (A) Bhopal  (B) Durgapur  
 (C) Hyderabad   
 (D) Ranipur (near Haridwar)  
 
97. Ashoka chakra award is given for ______. 
 (A) Most conspicuous bravery in military  
 (B) Science field  
 (C) Politics  
 (D) Courage in sports  
 
98. Which company became the first private company to 

put human into space orbit? 
 (A) Blue Origin  (B) Space X  
 (C) Scaled Composites  (D) Virgin Galactic  
 
99. Shirodhara, which was recently highlighted by the 

health ministry, is most associated with which therapy? 
  (A) Rigpa  (B) Unani  
 (C) Ayurveda   
 (D) Traditional Chinese Medicine 
  
100. Strategic tunnel under Rohtang Pass was recently 

named after which of the following individuals? 
 (A) Indira Gandhi  (B) Vallabhai Patel  
 (C) Moraji Desai  (D) Atal Bihari Vajpayee  

Quantitative Aptitude 

101. Find the largest number of five digits which is a perfect 
square. 

 (A) 99999 (B) 99764 
 (C) 99976 (D) 99856 
 

102. Arrange 64 123, 10 25  in descending order. 

  (A)  6 4 1210 3 25  (B)   612 425 3 10  

 (C)  6 12 410 25 3  (D)   64 123 25 10  

 
103. Two varieties of soda water with different prices are 

mixed in the ratio of 2 : 3. The price of first soda water 
is ₹ 10 per litre while the price of second soda water is 
₹ 15 per litre, respectively. The average price of the 
mixture is: 

 (A) ₹ 13 (B) ₹ 15 
 (C) ₹ 16 (D) ₹ 20 
 
104. A is 30% more efficient than B. How much time will 

they, working together, take to complete a job which A 
alone could have done in 23 days? 

 (A) 16 days (B) 15 days  
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 (C) 10 days (D) 13 days  

105. A student walks from his house at 
1

2
2

 km/h and 

reaches his school late by 6 minutes. Next day, he 
increases his speed by 1 km/h and reaches 6 minutes 
before school time. How far (in km) is the school from 
his house? 

 (A) 
5

4
 (B) 

7

4
 

 (C) 
9

4
 (D) 

11

4
 

 
106. The average age of 3 friends is 32 years. If the age of 

the fourth friend is added, their average age comes out 
to be 31 years. What is the age of the fourth friend? 

 (A) 32 years (B) 28 years  
 (C) 24 years (D) 26 years  
 
107. Mohit spends 24% of his monthly salary on food and 

15% on the education of his children. Of the remaining 
salary, he spends 25% on entertainment and 20% on 
conveyance. He is now left with ₹ 10736. What is the 
monthly salary of Mohit? 

 (A) ₹ 27600 (B) ₹ 28000 
 (C) ₹ 31200 (D) ₹ 32000 
 
108. What will be the present worth of ₹ 169 received as 

amount in 2 years at 4% per annum compound 
interest? 

 (A) ₹ 156.25 (B) ₹ 160  
 (C) ₹ 150.50 (D) ₹ 154.75 
 
109. A vendor sells lemons at the rate of 5 for ₹ 14, gaining 

thereby 40%. For how much did he buy a dozen 
lemon? 

 (A) ₹ 20 (B) ₹ 21 
 (C) ₹ 24 (D) ₹ 28 
 
110. A man sold an article at a loss of 20%. If he sells the 

article for ₹ 12 more, he would have gained 10%. The 
cost price of the article is: 

 (A) ₹ 60 (B) ₹ 40 
 (C) ₹ 30 (D) ₹ 22 
 
111. The area of a right angled triangle is 10 sq. cm. If its 

perpendicular is equal to 20 cm, find its base. 
 (A) 1 cm (B) 4 cm  
 (C) 3 cm (D) 2 cm  
 
112. Find the cost of carpeting a room 8 m long and 6 m 

broad with a carpet 75 cm wide at ₹ 20 per m. 
 (A) ₹ 1300 (B) ₹ 1500 
 (C) ₹ 1750 (D) ₹ 1280 
 

113. If 
− − −

+ + =
11 13 11 13 11 13

5
x y z

x y z
, then what is the 

value of + +
1 1 1

x y z
? 

 (A) 1 (B) 
13

11
 

 (C) 
13

5
 (D) 4 

 

114. If 
 −

= 
+ 

5 3

5 7

x y

x y
, then what is the value of 

 +
 
 + + 

2

2 2

4 4

9 16 24

x xy

x y xy
? 

  (A) 
12

121
 (B) 

3

7
 

 (C) 
18

49
 (D) 

1

6
 

 

115. What is the value of 
− −

+
+ +( ) ( )

1 1

1 1p q q px x
? 

 (A) 0 (B) 1 
 (C) x(p-q) (D) x(p+q) 
 
116. If angle bisector of a triangle bisects the opposite side, 

then what type of triangle is it definitely? 
 (A) Right angled  (B) Scalene  
 (C) Similar  (D) Isosceles  
 
117. Three circles of radius 6 cm each touches each other 

externally. Then the distance (in cm) of the centre of 
one circle from the line joining the centres of other two 
circles is equal to: 

 (A) 6 5  (B) 6 3  

 (C) 6 2  (D) 6 7  

 

118. I is the incentre of ∆ABC, ABC = 60° and ACB = 

50°. Then BIC is ______. 

 (A) 55° (B) 125° 
 (C) 70° (D) 65° 
 

119. If sin θ + sin 5θ = sin 3θ and 0 < θ < 
 

 
 

, then what is 

the value of θ (in degrees)? 
 (A) 30 (B) 45 
 (C) 60 (D) 75 
 

120. What is the simplified value of 

 
 
 
 + 
 

2

cot tan
2 2

A A
? 

 (A) sin A (B) cos
2

A
 

 (C) cos2A (D) 2sin
2

A
 

 
Direction 121 to 125: Study the following line chart carefully 

and answer the questions based on it. 
 
 The following line chart shows the percent profit earned 

over the year by two companies X and Y.  
 

 

 
121. If the expenditure of company X in the year 2013 and 

2014 are in the ratio 3 : 4 respectively, then what was 
the respective ratio of their incomes in these two years? 

 (A) 12 : 17 (B) 6 : 11 
 (C) 21 : 31 (D) Cannot be determined  
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122. If the total expenditure of companies X and Y in 2010 is 
₹ 85 lakh, then what was the total income of the two 
companies in that year? 

 (A) ₹ 10.2 millions  (B) ₹ 11.05 millions  
 (C) ₹ 10.625 millions  (D) Cannot be determined  
 
123. The income of company X in 2010 was ₹ 42 lakh, which 

increased by 40% in the year 2011. Approximately, 
what was the expenditure (in ₹ lakh) of Company X in 
2011? 

 (A) 58 (B) 49 
 (C) 54 (D) 42 
 
124. If the total income of companies X and Y in year 2015 

was ₹ 15.75 millions, then what is the expenditure of 
each company in that year? 

 (A) ₹ 73 lakh  (B) ₹ 50 lakh  
 (C) ₹ 68 lakh  (D) Cannot be determined  
 
125. If the incomes of the two companies in 2011 were 

equal, then what was the ratio between the 
expenditures of companies X and Y respectively in that 
year? 

 (A) 9 : 8 (B) 8 : 9 
 (C) 4 : 7 (D) None of these 
 
126. The difference of two numbers is 1/9 of their sum. Their 

sum is 45. Find the LCM. 
 (A) 225 (B) 100 
 (C) 150 (D) 200 
 

127. Which one is greatest out of 36 42, 3, 4 and 5 ? 

 (A) 3 4  (B) 4 5  

 (C) 2  (D) 6 3  

 
128. Find the largest four digit number exactly divisible by 

each of 12, 15, 18 and 27. 
 (A) 9820 (B) 9430 
 (C) 9520 (D) 9720 
 
129. A cistern is normally filled in 4 hours but takes 1 hour 

longer to fill because of a leak in its bottom. If the 
cistern is full, the leak will empty it in how many hours? 

 (A) 10 hours  (B) 20 hours  
 (C) 15 hours (D) 12 hours  
 
130. A swimmer’s speed downstream is 11 km/h and speed 

of the stream is 1.5 km/h. Find the upstream speed of 
swimmer. 

 (A) 8 km/hr  (B) 9.5 km/hr  
 (C) 9 km/hr  (D) 6.25 km/hr  
 
131. The average age of 24 females decreases by 2 months 

when 3 females of 12 years, 13 years and 14 years are 
replaced by 3 males. Find out the average age of 3 
males. 

 (A) 15 years  (B) 18 years  

 (C) 
2

11
3

 years  (D) 
5

5
11

 years  

 
132. The population of a town increases by 5% every year. If 

the present population is 9261, the population 3 years 
ago was: 

 (A) 5700 (B) 6000 
 (C) 7500 (D) 8000 
 
133. 40 men took a dip in a pool 30 m long and 25 m broad. 

If the average water displaced by a man is 5 m3, then 
what will be the rise (in cm) in level of the pool? 

 (A) 25 (B) 26.66 
 (C) 27.33 (D) 28 

134. 80 litre mixture of milk and water contains 10% milk. 
How much milk (in litres) must be added to make water 
percentage in the mixture as 80%? 

 (A) 8 (B) 9 
 (C) 10 (D) 12 
 
135. What amount will be received on a sum of ₹ 1750 in 2 

year, if the interest is compounded at the rate of 8% per 
annum? 

 (A) ₹ 2125 (B) ₹ 2041.2  
 (C) ₹ 2100 (D) ₹ 2200 
 
136. A shopkeeper allows a discount of 10% on the marked 

price of an item but charges a sales tax of 8% on the 
discounted price. If the customer pays ₹ 729 as the 
price including the sales tax, then what is the marked 
price of the item? 

 (A) ₹ 800 (B) ₹ 700 
 (C) ₹ 600 (D) ₹ 750 
 
137. The curved surface of a cylindrical pillar is 264 sq. m 

and its volume is 924 m3. The ratio of its diameter to its 
height is: 

 (A) 7 : 3 (B) 3 : 7 
 (C) 7 : 6 (D) 6 : 7 
 
138. A pit 7.5 m long, 6 m wide and 1.5 m deep is dug in a 

field. Find the volume (in metre3) of soil removed. 
 (A) 135 (B) 101.25 
 (C) 50.625 (D) 67.5 
 

139. If = +8 2 15x , then what is the value of +
1

x
x

? 

 (A) 2 5  (B) 2 3  

 (C) 
+3 5 3

2
 (D) 

−3 3 5

2
 

 

140. If 
+

=
−

3

3

p x

q x
, then what is the value of 

+

−

2 2

2 2

p q

p q
? 

 (A) 
+2 9

3

x

x
 (B) 

+2 18

6

x

x
 

 (C) 
+2 18

3

x

x
 (D) 

+2 9

6

x

x
 

 
141. If one of the interior angles of a regular polygon is equal 

to 5/6 times of one of the interior angles of a regular 
pentagon, then the number of sides of the polygon are: 

 (A) 3 (B) 4 
 (C) 6 (D) 8 
 
142. One chord of a circle is known to be 10.1 cm. The 

radius of this circle must be: 
 (A) 5 cm   
 (B) greater than 5 cm  
 (C) greater than or equal to 5 cm  
 (D) less than 5 cm  
 
143. In the given figure, O is the centre of the circle and 

AOB = 90°, then APB will be: 

  

 (A) 90° (B) 60° 
 (C) 45° (D) 30° 
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144. What is the simplified value of 
−

+

1 sin

1 sin

A

A
? 

 (A) tan A (B) sec A 
 (C) sec A + tan A (D) sec A – tan A 
 
145. If θ is acute angle and tan θ – cot θ = 0, then what is 

the value of tan26 θ + cot100 θ? 
 (A) – 2 (B) 0 
 (C) 1 (D) 2 
 
Direction 146 to 150: Study the following bar chart carefully 

and answer the questions based on it. 
 
 The following bar chart shows the profit earned by 

company over the years. 
 

  

 
146. What is the percent profit of the company in the year 

2014, if the income of the company was ₹ 120 crores? 
 (A) 100% (B) 120% 
 (C) 133% (D) 140% 
 
147. The expenditure of the company in the year 2015 was ₹ 

85 crores. What is the ratio of income to expenditure of 
the company in that year? 

 (A) 23 : 17 (B) 5 : 4 
 (C) 11 : 8 (D) 21 : 16 
 
148. What is the (approximate) average (in ₹ crores) profit 

made by the company over the years? 
 (A) 50 (B) 48 
 (C) 53 (D) 57 
 
149. The income of the company in the years 2011 was ₹ 

950000000. What was the expenditures (in ₹) of the 
company in that year? 

 (A) 50000000 (B) 550000000 
 (C) 40000000 (D) 3500000000 
 
150. What is the percent increase in the profit of the 

company in the year 2014 from the previous year? 
 (A) 43% (B) 46% 
 (C) 50% (D) 40% 

English Language 

Direction 151 and 152: In the following questions, choose the 
word which is most nearly the SAME in meaning as the 
word given below. 

 
151. Congregation 
 (A) Combination (B) Meeting 
 (C) Assembly (D) Collection 
152. Calumniate 
 (A) Approve (B) Slander 
 (C) Warn (D) Delay 
 
Direction 153 and 154: In the following questions, choose the 

word which is most nearly the OPPOSITE in meaning 
as the word given below. 

 

153. Sordid 
 (A) Steady (B) Spotless 
 (C) Generous (D) Splendid 
 
154. Subservient 
 (A) Aggressive (B) Superior 
 (C) Straight forward (D) Supercilious 
 
Direction 155 and 156: In the following questions, four words 

are given, out of which only one word is incorrectly 
spelt. Find the incorrectly spelt word. 

 
155. (A) FRESHNER (B) FORLORN 
 (C) FOREIGN (D) FRUITY 
 
156. (A) SPURIOUS (B) STUDIOUS 
 (C) SUBSIDARY (D) SENSIBLE 
 
Direction 157 and 158: In the following questions, some part 

of the sentences have errors and some are correct. 
Find out which part of a sentence has an error. If there 
is no error, your answer is (D) i.e. ‘No error’. 

 
157. A pair of shoes (A)/ were standing (B)/ in the corner. 

(C)/ No error (D) 
 (A) A (B) B 
 (C) C (D) D 
 
158. If I would have realised (A)/ what a bad person my 

friend is (B)/ I would have discarded his friendship. (C)/ 
No error (D) 

 (A) A (B) B 
 (C) C (D) D 
 
Direction 159 and 160: In the following questions, sentences 

are given with blanks to be filled in with an appropriate 
word. Four alternatives are suggested for each 
question. Choose the correct alternative out of the four 
as your answer. 

 
159. The presence of their teacher ______ the chit-chat of 

the girls in the restaurant. 
 (A) limited (B) interrupted 
 (C) inhibited (D) obstructed 
 
160. Thinking that the other candidate was more deserving 

for the post, I ______ in his favour. 
 (A) stood my ground (B) stood out 
 (C) stood over (D) stood off 
 
Direction 161 and 162: In the following questions, four 

alternatives are given for the idioms/phrases. You are 
required to choose the correct meaning of the idioms/ 
phrases being given. 

 
161. French leave 
 (A) Long absence 
 (B) Leave on the pretext of illness 
 (C) Casual leave 
 (D) Absence without permission 
 
162. To play fast and loose 
 (A) To beguile others 
 (B) To be winning sometimes and losing at other times 
 (C) To play with someone’s feelings 
 (D) To act recklessly or irresponsibly 
 
Direction 163 and 164: In the following questions, out of the 

four alternatives, choose the one which can be 
substituted for the given words/sentences. 

 
163. Mania for travel 
  

http://bit.ly/TesMusPrime
https://tesmus.com/


SSC_CPO_PRE_2023                                TEST ID - CPO - 887822641  

 

 

 

App :- http://bit.ly/TesMusPrime                       10 | P a g e                Web :- https://tesmus.com  

 (A) Dromomania (B) Pyromania 
 (C) Biblomania (D) logomania 
 
164. A disease which spreads by contact 
 (A) Infectious (B) Contagious 
 (C) Contiguous (D) Contextual 
 
Direction 165 and 166: In the following questions, a part of 

sentence is underlined. Four alternatives are given to 
the underlined part which will improve the sentence. In 
case no improvement is needed, mark your answer as 
(D) i.e. “No improvement”. 

 
165. The marriage ceremony took place in this very hotel 

last Saturday. 
 (A) was took place (B) did take place 
 (C) was taken place (D) No improvement 
 
166. Sushma was hurried to the station when she dashed 

against the truck. 
 (A) was hurrying (B) had hurried 
 (C) is hurried (D) No improvement 
 
Directions 167 and 168: In the following question, a sentence 

has been given in Active/Passive Voice. Out of the four 
alternatives suggested, choose the one, which best 
expresses the same sentence in Passive/Active Voice. 

 
167. The horse jumped over the fence. 
 (A) The fence was jumped by the horse. 
 (B) The fence might be jumped over by the horse. 
 (C) The fence was jumped over by the horse. 
 (D) The fence by the horse was jumped over. 
 
168. To make the batter add one tablespoonful of baking 

powder to the cake mixture. 
 (A) One tablespoonful of baking powder could be 

added to the cake mixture to make the batter. 
 (B) Let one tablespoonful of baking powder be added to 

the cake mixture to make the batter. 
 (C) Let only one tablespoonful of baking powder be 

added to the cake mixture to make the batter. 
 (D) One tablespoonful of baking powder may be added 

to the cake mixture to make the batter. 
 
Directions 169 and 170: In the question, six statements are 

given, out of which the first and the last statement are 
fixed. Rearrange the remaining statements in the 
correct order and answer the question. 

 
169. 1. Most men spend most of their lives looking after and 

waiting upon machines. 
 P. They must be fed well and kept at right 

temperatures. 
 Q. They might burst with rage and blow up causing ruin. 
 R. If they do not get their meals they refuse to work. 
 S. Machines are very stern masters. 
 6. So, men need to wait upon machines attentively. 
 (A) SPRQ (B) PQRS 
 (C) QSPR (D) RPQS 
 
170. 1. Books have been present since the time the first 

scripts were formed – about 5000 years ago. 
 P. The books of that time looked different from the ones 

available today. 
 Q. Then an important invention, letter press printing, 

also known as 'black art' changed the world. 
 R. Later, the books came in the form of rollers, or texts 

were stapled together and covererd with a wooden 
book cover. 

 S. Initially, people bound the small clay tablets together 
with leather bands. 

 6. There was no longer the need to write text by hand; 
instead copies of text could be made with the help of a 
printing press. 

 (A) PRQS (B) PSRQ 
 (C) SPRQ (D) SRQP 
 
Direction 171 to 175: In the following passage, some of the 

words have been left out. Read the passage carefully 
and select the correct answer for the given blank out of 
the four alternatives. 

 
 The sun had set but there was still some light in the 

sky. Martin ___(171)___ on his elbow and looked 
___(172)___ through the leaves. In the waters of the 
lake, close to the shore, he saw a ___(173)___ of 
alligators floating quietly. One of the creatures, 
___(174)__ huge one, was lying on a high ___(175)___ 
of sand, a few yard from the water. 

 
171. (A) sat (B) crossed 
 (C) leaned (D) lay 
 
172. (A) into (B) down 
 (C) at (D) for 
 
173. (A) semblance (B) family 
 (C) volume (D) number 
 
174. (A) an (B) a 
 (C) one (D) single 
 
175. (A) bank (B) peak 
 (C) pit (D) pile 
 
Direction 176 and 177: In the following questions, choose the 

word which is most nearly the SAME in meaning as the 
word given below. 

 
176. Forlorn 
 (A) Alone (B) Funny 
 (C) Fearful (D) Fortunate 
 
177. Grotesque 
 (A) Obscene (B) Exaggerated 
 (C) Colourful (D) Pompous 
 
Direction 178 and 179: In the following questions, choose the 

word which is most nearly the OPPOSITE in meaning 
as the word given below. 

 
178. Wreck 
 (A) Ruin (B) Build 
 (C) Swim (D) Relieve 
 
179. Wrath 
 (A) Fury (B) Peace 
 (C) Delight (D) Choler 
 
Direction 180 and 181: In the following questions, four words 

are given, out of which only one word is incorrectly 
spelt. Find the incorrectly spelt word. 

 
180. (A) ADULTRATION (B) ADULATION 
 (C) ADVANCEMENT (D) ADMITTANCE 
 
181. (A) RAPPORT (B) SUBSTANCE 
 (C) GRAVYARD (D) RESISTIBLE 
 
Direction 182 and 183: In the following questions, some part 

of the sentences have errors and some are correct. 
Find out which part of a sentence has an error. If there 
is no error, your answer is (D) i.e. ‘No error’. 
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182. No sooner she had realised (A)/ her blunder than she 
began (B)/ to take corrective measures. (C)/ No error 
(D) 

 (A) A (B) B 
 (C) C (D) D 
 
183. Once an old hermit (A)/ saw a cat (B)/ pouncing at a rat. 

(C)/ No error (D) 
 (A) A (B) B 
 (C) C (D) D 
 
Direction 184 and 185: In the following questions, sentences 

are given with blanks to be filled in with an appropriate 
word. Four alternatives are suggested for each 
question. Choose the correct alternative out of the four 
as your answer. 

 
184. The High Court ______ the death sentence of the 

prisoner. 
 (A) set down (B) set upon 
 (C) set about (D) set aside 
 
185. The Marxists, following a theory of dialectical 

materialism, contend that man is merely a producing 
animal who supplies his own needs and whose life is 
largely ______ by economic forces. 

 (A) made (B) subordinated 
 (C) moulded (D) subjugated 
 
Direction 186 and 187: In the following questions, four 

alternatives are given for the idioms/phrases. You are 
required to choose the correct meaning of the idioms/ 
phrases being given. 

 
186. To give up the ghost 
 (A) To die 
 (B) To make false appearance 
 (C) To terrify others by acting in suspicious manner 
 (D) To leave useless pursuits 
 
187. To talk one’s head off 
 (A) To talk loudly (B) To talk in whispers 
 (C) To talk to oneself (D) To talk excessively 
 
Direction 188 and 189: In the following questions, out of the 

four alternatives, choose the one which can be 
substituted for the given words/sentences. 

 
188. Walking in sleep 
 (A) Somniloquism (B) Somnambulism 
 (C) Obsession (D) Hallucination 
 
189. Stealing from the writings of others 
 (A) Copying (B) Reframing 
 (C) Reproducing (D) Plagiarism 
 
Direction 190 and 191: In the following questions, a part of 

sentence is underlined. Four alternatives are given to 
the underlined part which will improve the sentence. In 
case no improvement is needed, mark your answer as 
(D) i.e. “No improvement”. 

 
190. There was too many people trying to leave the city.  
 (A) There were too much (B) It was too many 
 (C) There were too many (D) No improvement 
 
191. Without trust any relationship will not be last long.  
 (A) not last (B) not lasting 
 (C) not lasts (D) No improvement 
 
Directions 192 and 193: In the following question, a sentence 

has been given in Active/Passive Voice. Out of the four 

alternatives suggested, choose the one, which best 
expresses the same sentence in Passive/Active Voice. 

 
192. Differential Calculus is being learnt by the girl. 
 (A) The girl has learnt Differential Calculus. 
 (B) The girl is learning Differential Calculus. 
 (C) The girl learns Differential Calculus. 
 (D) The girl was learning Differential Calculus. 
 
193. By whom is John looked after? 
 (A) Who is looking after John? 
 (B) Who looks after John? 
 (C) John looks after whom? 
 (D) Whom looks after John? 
 
Directions 194 and 195: In the question, six statements are 

given, out of which the first and the last statement are 
fixed. Rearrange the remaining statements in the 
correct order and answer the question. 

 
194. 1. The first illness I read about was cholera. 
 P. I sat for a while, too frightened to move. 
 Q. I came to malaria. 
 R. As I read the list of symptoms, it seemed to me that 

perhaps I had cholera myself. 
 S. Then, in a kind of dream, I started to turn the pages 

of the book again. 
 6. Yes, there was no doubt about it – I had malaria too. 
 (A) RPSQ (B) PQSR 
 (C) SPQR (D) QSPR 
 
195. 1. Lata was caught in a traffic jam. 
 P. Would she really have to miss the interview? 
 Q. But the vehicles on either side looked as though they 

would be there forever. 
 R. The reason was that she was due to appear for an 

interview in less than half and hour. 
 S. She was fretting : she could not afford to be late. 
 6. Or, worse – would she arrive late and create a bad 

first impression? 
 (A) RSQP (B) RSPQ 
 (C) SRQP (D) SRPQ 
 
Direction 196 to 200: In the following passage, some of the 

words have been left out. Read the passage carefully 
and select the correct answer for the given blank out of 
the four alternatives. 

 
 One fine morning a ____(196)____ man knocked at the 

doors of the home for the aged run by nuns. He told the 
nun in charge that as he was ____(197)____ to Delhi, 
he wanted to leave his servant maid to the 
_____(198)___ of the nuns. He assured the nun of 
sending some money every month ____(199)____ she 
was an orphan. The nun ___(200)___ her saying that 
she had got an excellent master. 

 
196. (A) bad (B) nice 
 (C) good (D) gentle 
 
197. (A) shifted (B) changed 
 (C) transferred (D) moved 
 
198. (A) home (B) custody 
 (C) protection (D) care 
 
199. (A) and (B) though 
 (C) if (D) because 
 
200. (A) praised (B) consoled 
 (C) condoled (D) loved 
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Reasoning Aptitude 

1.(A)  J – 3 → G ; P – 3 → M ; C – 3 → Z 

2.(D)  K – 2 → I ; L – 2 → J ; M – 2 → K ; N – 2 → L 

3.(C)  x : x3 + x 
4.(C)  All other words are synonyms of each others. 
5.(B)  All other are consecutive letters. 
6.(B)  All numbers are formed of same digits. 
7.(D)  The proper sequence according to dictionary is: 

 (4) Gap → (5) Glade → (3) Glitch → (1) Globe → (2) 

Group 
8.(D)   

 

+ + + +

+

⎯⎯⎯→ ⎯⎯⎯→ ⎯⎯⎯→ ⎯⎯⎯→

⎯⎯⎯→

3 3 3 31 1 2 1 3 1 4 1

35 1

2 4 13 41

106 232

 

9.(B)  + + + +
⎯⎯⎯⎯→ ⎯⎯⎯⎯→ ⎯⎯⎯⎯→ ⎯⎯⎯⎯→

2 5 2 4 2 3 2 2
7 19 42 87 176

x x x x  

10.(D)  Only single ‘E’ is present in the given word. Hence, 
the word ‘GREATER’ cannot be formed. 

11.(B)  C’s present age = 5 + 9 = 14 years 
 After 8 years, 
 B’s age will be 4 × 14 = 56 
 B’s present age = 56 – 8 = 48 
 So, A’s present age = 2 × 48 = 96 years 
12.(A)  Sequences can be in ascending order from left to 

right. 
 Indus > Cyber = Unity > Pearl > Sky or Cyber = 

Unity > Indus > Pearl > Sky 
13.(D)   

 

++ +

− − −

+ + +

− − −

+ + +

⎯⎯⎯→⎯⎯⎯→ ⎯⎯⎯→

⎯⎯⎯→ ⎯⎯⎯→ ⎯⎯⎯→

⎯⎯⎯→ ⎯⎯⎯→ ⎯⎯⎯→

⎯⎯⎯→ ⎯⎯⎯→ ⎯⎯⎯→

⎯⎯⎯→ ⎯⎯⎯→ ⎯⎯⎯→

11 1

2 2 2

3 3 3

4 4 4

5 5 5

M N and B C similarly, P Q

A Y O M R P

T W A D I L

C Y R N N J

H M D I T Y

 

14.(C)  54 ÷ 162 × 18 + 12 – 6? 
 18 – 6 = ? 
 ? = 12 
15.(B)  Here, ‘@’ means nothing but ‘*’ means additions. 
 (3)2 @ 1 * 7 = 98 
 91 + 7 = 98 
 98 = 98 
16.(D)  4 × 3 + 5 × 2 = 22 ; 2 × 1 + 7 × 6 = 44  
 Similarly, 8 × 7 + 5 × 2 = 66 
17.(C)   

  

 Triangles are: 
 1, 2, 3, 4, 12, 23, 34, 41, 345, 67, 56, 5, 6 
 Total = 13 
18.(C)   

  

 Both conclusion follows. 
19.(A)  N is is common in both 
 So, N B S ; N Q T ; Q is opposite to B. 
20.(C)  14 + 28 = 42 
21.(B)  
22.(C)  
23.(B)  
24.(A)  
25.(A)   

  

 Total boys in both the rows = 17 + 21 = 38 
26.(A)  Formulas are found in mathematics, similarly 
 Reactions are found in chemistry. 

27.(B)  B + 1 → C ; P + 1 → Q ; T + 1 → U ; W + 1 → X 

28.(C)  (X)2 : (X + 6)2 
29.(C)  All other are electronic gadgets. 
30.(B)  B(2) + N(14) = P(16) 
 L(12) + M(13) = Y(25) 
 T(20) + A(1) = U(21) 
31.(D)  (5)2 + 1 = 26 ; (7)2 + 1 = 50 ; (9)2 + 1 = 82 
 (11)2 – 1 = 120 
32.(D)  The proper sequence according to dictionary is: 

 (3) Tingling → (2) Topper → (5) Traction → (1) 

Train→ (4) Tumbler 

33.(B)  B + 2 → D + 2 → F + 2 → H 

 T – 2 → R –2 → P – 2 → N 

34.(C)  F + 6 → L + 6 → R + 6 → X 

 K + 6 → Q + 6 → W + 6 → C 

 [27 (3)3 → 64 (4)3 → 125 (5)3 → 216 (6)3] 

35.(C)  Only single ‘S’ is present in the given words. Hence, 
the word ‘SEASON’ cannot be formed. 

36.(B)   

  

37.(A)  P(16) + U(21) + N(14) + I(9) + S(19) + H(8) + E(5) + 
D(4) = 96 

 Now, 96 × 3 = 288 
38.(A)  The pattern is + 4 and – 4 in the letters of the given 

word alternatively and then the code is reversed. 
39.(B)  15 S 16 Q 2 P 4 = 47 
 15 + 16 ÷ 2 × 4 = 47 
 47 = 47 
40.(C)  15 ÷ 3 × 4 = 20 
 5 × 4 = 20 
 20 = 20 
41.(B)  Here # means multiplication 
 13 × 9 – (13 + 9 + 1) = 94 ; 18 × 7 – (18 + 7 + 1) 
42.(C)   

  

 Triangles are: 1, 3, 8, 7, 6, 4, 12, 28, 57, 65, 123, 
394, 397, 498, 456, 23894, 39754 

 Total = 17 
43.(C)   
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 Both conclusion follow. 
44.(D)  Ist and 2nd dice 
 P Q N ; P Z R 
 So, R is opposite to N. 
45.(C)  

  

46.(A)  
47.(D)  
48.(A)  
49.(A)  
50.(B)   

  

General Studies 

51.(C)  52.(C)  53.(B)  54.(C)  55.(A)  56.(B)  
57.(A)  58.(B)  59.(A)  60.(D)  61.(B)  62.(A)  
63.(A)  64.(A)  65.(A)  66.(A)  67.(A)  68.(A)  
69.(C)  70.(A)  71.(B)  72.(A)  73.(A)  74.(A)  
75.(C)  76.(C)  77.(C)  78.(D)  79.(B)  80.(A)  
81.(B)  82.(A)  83.(A)  84.(A)  85.(B)  86.(A)  
87.(C)  88.(C)  89.(C)  90.(D)  91.(C)  92.(C)  
93.(B)  94.(A)  95.(B)  96.(B)  97.(A)  98.(B)  
99.(C)  100.(D)  

Quantitative Aptitude 

101.(D)  99856 is the largest five digit perfect square of 316. 
102.(A)  LCM of 4, 6, 12 is 12. 
 So, now fractions are: 
 (3)3, (10)2, (25)1 
 Sequence is: (10)2 > (3)3 > (25)1 

 or  6 4 1210 3 25  

103.(A)  Let the average price be ₹ x. 

 
−

=
−

15 2

10 3

x

x
 

 2x – 20 = 45 – 3x 
 x = 13 
104.(D)  By unitary method, 
 B’s efficiency = 100 then A’s efficiency = 130 
 130 × 23 = 230 × x 
 x = 13 days  
105.(B)  Let distance be D km. 

 − =
2 2 12

5 7 60

D D
 

 D = 7/4 km 
106.(B)  Sum of the age of 3 friends = 96 
 Sum of the age of 4 friends = 124 
 Age of fourth friend = 124 – 96 = 28 
107.(D)  Let his income be 100 
 Food = 24 ; Education = 15 
 Entertainment = 61 × 0.25 = 15.25 
 Conveyance = 61 × 0.2 = 12.2 

 =  =
10736

Monthly salary 100 32000.
33.55

 

108.(A)  Let the present worth be x. 
 so, x × 1.04 × 1.04 = 169 

 = =


169
156.25

1.04 1.04
x  

109.(C)  Selling price of single lemon = 14/5 
 Cost price of a single lemon = x 
 x = (14/5) × (10/14) = 2 
 Required CP = 2 × 12 = 24 
110.(B)  Let CP = 100 
 SP1 = 100 × 0.8 = 80 
 SP2 = 100 × 1.1 = 110 
 Now CP = (12/30) × 100 = 40 

111.(A)    =
1

20 10
2

B  

 B = 1 cm 
112.(D)  Area of the floor = 8 × 6 = 48 m2  

 = 220
Rate of carpet

0.75
` /m  

 =   =
4

Total cost 48 20 1280
3

 

113.(D)  + + = + + +
11 11 11

5 13 13 13
x y z

 

 + + =
1 1 1

4
x y z

 

114.(A)  x = 1, y = 2 

 
+


+ +

4 8

9 64 48
 

 
12

121
 

115.(B)  −

−

+ =
+ +

1 1
1

11 1
p q

p q
x

x

 

116.(D)   

  

 AD is a angle bisector. 

 =So,
AB AC

BD CD
 

 According to question, 
 BD = CD 

  AB = AC 

117.(B)   

  

 = −2 24AD r r  

 = √3r 
 r = 6 cm 

 = 6 3AD  

118.(B)   

  

 


= +90
2

BAC
BIC  

 
− −

+
(180 60 50)

90
2
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 = 125° 

119.(A)  2 sin 3 cos 2 = sin3 

  =
1

cos 2
2

 

 2 = 60° 

  = 30° 

120.(A)   

 =

+2 2

2sin cos
2 2 sin

sin cos
2 2

A A

A
A A

 

121.(A)  Let expenditures be 3x and 4x 
 Income of 2013 

 =
Income

1.6
3x

 

 Income = 4.8 x 
 Income of 2014 

 =
Income

1.7
4x

 

 = 6.8 x 
 Ratio = 12 : 17 
122.(D)  As we cannot ascertain the answer because we 

cannot determine the incomes. 
123.(D)  Income of company X in 2011 = 42 × 1.4 = 58.8 

 Expenditure of company X in 2011 = 
−

=
2 58.8

5

x

x
 

 7x = 294 ; x = 42 
124.(D)  We cannot ascertain the expenditures 
125.(D)  Ratio of income = 1 : 1 ; Incomes be x and x. 
 Expenditure of X in 2011 = x/exp = 1.4 ; exp = x/1.4 
 Expenditure of X in 2011 = x/exp = 1.2 ; exp = x/1.2 
 Ratio = 1.2 : 1.4 ; 6 : 7 
126.(B)  Difference = 5 
 Let a number be = x 
 So, second number will be x + 5. 
 2x = 40 ; x = 20 
 Number are 20 and 25. 
 LCM = 100 
127.(A)  LCM of 2, 6, 3, 4 is 12 
 So, (2)6, (3)2, (4)4, (5)3 

 Greatest is (4)4 i.e. 3 4  . 

128.(D)  LCM of 12, 15, 18 and 27 
 12 = 3 × 22 ; 15 = 3 × 5 ; 18 = 2 × 32 ; 27 = 33  
 LCM = 33 × 5 × 22 = 540 
 Only 9720 is completely divisible by 540. 
129.(B)  Total capacity of tank 20 (LCM of 4 and 5) 
 Tap’s one hour work = 5 
 Tap + leak’s one hour work = 4 
 Leak’s one hour work = 1 (empties) 

 Required time = =
20

20 hours
1

 

130.(A)  Let speed of boat in still water be x km/hr. 
 11 = x + 1.5 
 x = 9.5 
 Upstream speed = 9.5 – 1.5 = 8 km/hr 
131.(C)  Difference between the ages of males and females 

= 48 months. 
 Total age of males = 39 – 4 = 35 years 

 Average age of males = =
35 2

11 years
3 3

 

132.(D)  Let population 3 years ago be x. 

 = =
3

9261
So, 8000

(1.05)
x  

133.(B)  30 × 25 × h = 40 × 5 

 =


400
cm

3 5
h  

 = =
80

26.66 cm
3

h  

134.(C)  Milk = 80 × 0.1 = 8 
 Water = 72 
 Let milk added be x litres. 

 
+

=
+

8 1

80 5

x

x
 

 40 + 5x = 80 + x 
 x = 10 
135.(B)  A = 1750 × 1.08 × 1.08 = 2041.2 
136.(D)  Let MRP be x 
 x × .9 × 1.08 = 729 
 x = 750 

137.(A)  


=
 2

2 264

924

rh

r h
 

 d : h = 14 : 6 ; = 7 : 3 

 


= =
924 2

7
264

r  

 h = 6 
138.(D)   

139.(C)  ( )= +
2

5 3x  

 
( )−

= + =
5 31

5 3 ,
2

x
x

 

 
−

+ = + +
1 5 3

5 3
2

x
x

 

 
+

=
3 5 3

2
 

140.(D)  
+

=
−

3

3

p x

q x
 

 
+

=
−

2 2

2 2

( 3)

( 3)

p x

q x
 

 
+ + + −

=
− + − −

2 2 2 2

2 2 2 2

( 3) ( 3)

( 3) ( 3)

p q x x

p q x x
 

 
+ +

= =


2 22( 9) 9

2 6 6

x x

x x
 

141.(B)  
− −

 =  
( 2) 5 (5 2)

180 180
6 5

x

x
 

 x = 4 
142.(B)  Let chord be diameter of the circle. 
 So, diameter = 10.1 cm 

  Radius = 5.05 cm 

 So, radius must be greater than 5. 

143.(C)  AOB = 2 APB 

144.(D)  
−

=
+

1 sin

1 sin

A

A
 

 

   
− −   

   = =
 

+ 
 

2

cos sin cos sin
2 2 2 2

cos
cos sin

2 2

A A A A

A A A
 

 
−

= = −
1 sin

sec tan
cos

A
A A

A
 

145.(C)  tan  = cot  = 1. 

146.(D)  We have expenditure = Income – Profit 
 = 120 – 70 
 = 50 

  =  =
70

Profit percent 100 140%
50

 

147.(A)  Income of company = Expenditure + Profit 
 = 85 + 30 = 115 
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  Required ratio = 115 : 85 = 23 : 17 

148.(C)  Required average 

 
+ + + + +

= = 
40 55 50 70 30 75 320

53 crores
6 6

 

149.(B)   Expenditure = Income – Profit 

 = (95 – 40) crores 
 = 55 crores 
 = 550000000 

150.(D)  
−

=  =
70 50

Required % profit 100 40%
50

 

English Language 

151.(C)  Congregation (noun) means church, gathering. 
152.(B)  Calumniate (verb) means defame, smear. 
153.(B)  Sordid (adjective) means filthy, foul. 
154.(B)  Subservient (adjective) slavish, submissive. 
155.(A)  FRESHENER 
156.(C)  SUBSIDIARY 
157.(B)  ‘was’ in place of ‘were’ as singular subject ‘a pair’ is 

there. 
158.(A)  ‘had realised’ in place of ‘would have realised’ as 

sentence is in past tense. 
159.(C)  inhibited i.e. stop the flow. 
160.(A)  stood my ground i.e. to remain steadfast. 
161.(D)  Absence without permission 
162.(D)  To act recklessly or irresponsibly 
163.(A)  Dromomania 
164.(B)  Contagious 
165.(D)  No improvement 
166.(A)  ‘was hurrying’ is suitable here. 
167.(C)  The fence was jumped over by the horse. 
168.(B)  Let one tablespoonful of baking powder be added to 

the cake mixture to make the batter. 
169.(A)  SPRQ; S is the first statement as subsequence 

statements rely on the information provided by S. 
170.(B)  PSRQ; Q and 6 are linked, Q introduces the idea of 

printing press and 6 amplifies it. SRQ is a triple like 
as it chronologically traces how books were made 
throughout the ages. 

171.(C)  leaned 
172.(B)  down 
173.(D)  number 
174.(B)  a 
175.(D)  pile 
176.(A)  Forlorn (adjective) means desolate, miserable. 
177.(A)  Grotesque (adjective) means bizarre, fanciful. 
178.(B)  Wreck (verb) means ruin, destroy. 
179.(C)  Wrath (noun) means outrage, anger. 
180.(A)  ADULTERATION 
181.(C)  GRAVEYARD 
182.(A)  ‘had she’ in place of ‘she had’ is correct 

grammatically here. 
183.(C)  ‘on’ in place of ‘at’ as with ‘pouncing’, preposition 

‘on’ is used. 
184.(D)  set aside means to postpone for another time. 
185.(C)  moulded means shaped. 
186.(A)  To die 
187.(D)  To talk excessively 
188.(B)  Somnambulism 
189.(D)  Plagiarism 
190.(C)  With people – plural subject, plural verb should be 

used. 
191.(A)  ‘not last’ is correct here. 
192.(B)  The girl is learning Differential Calculus. 
193.(B)  Who looks after John? 
194.(A)  RPSQ; 1 and R are link pair, 1 introduces the idea 

of illness and R elaborates it. 
195.(C)  SRQP; SR is the link pair, S tells that she is fretting 

and R tells the reason. P and 6 are link pair since 
they talk about situation that could occur due to the 
traffic jam. 

196.(D)  gentle 
197.(C)  transferred 
198.(D)  care 
199.(D)  because 
200.(A)  praised 
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INSTRUCTIONS TO CANDIDATE 

 

 

iz'uksa dks gy djus ls igys fuEufyf[kr funsZ'kksa dks /;ku ls i<+saA 

(1)  bl iqfLrdk esa 200 ç'u gSa] tks fd dqy pkj Hkkxkas esa foHkkftr gSaA 

  Hkkx-(I)   : Reasoning Aptitude               (50 iz'u) 

  Hkkx-(II)  : General Studies                 (50 iz'u) 

  Hkkx-(III) : Quantitative Aptitude               (50 iz'u) 

  Hkkx-(IV) : English Language                (50 iz'u) 

(2)  lHkh ç'u vfuok;Z gSa rFkk lcds cjkcj vad gSaA 

(3)  ç'uksa dks gy djuk çkjEHk djus ls igys vkidks bl iqfLrdk dh tkap djuh pkfg, vkSj ;g lqfuf'pr djuk pkfg, fd blesa lHkh 

i`"B mifLFkr gSa vkSj dksbZ i`"B de ;k cnyk gqvk ugha gSA vxj vkidks bl iqfLrdk esa dksbZ nks"k feyrk gS] rks vkidks rqjar bls 

cnyuk gksxkA 

(4)  çR;sd ç'u esa udkjkRed vadu gksrk gS D;ksafd çR;sd xyr mÙkj ds fy, 0-25 vad dkV fn;k tk,xkA 

(5) vkidks fujh{kd }kjk mÙkj iqfLrdk vyx ls nh tk,xhA vkidks ç'uksa dks gy djuk çkjEHk djus ls igys viuk uke] jksy uacj] VsLV 

uke @vkbZMh vkSj@ijh{kk dk uke mÙkj&iqfLrdk ij lko/kkuhiwoZd iwjk djuk gksxkA vkidks mÙkj&iqfLrdk esa fu/kkZfjr LFkku ij 

viuk gLrk{kj Hkh djuk gksxkA bu funsZ'kksa dk iwjh rjg ls ikyu fd;k tkuk pkfg,] ftldks u djus ij vkidh mÙkj&iqfLrdk dk 

ewY;kadu ugha fd;k tk,xk vkSj vkidks ^'kwU;^ vad fn;k tk,xkA 

(6) mÙkj dsoy isafly ;k CySd@Cyw c‚y isu }kjk mÙkj& iqfLrdk çklafxd ç'u la[;k ds lEcaf/kr xksys dks iwjh rjg ls CySd djds 

fn[kk;k tkuk pkfg,A 

(7) OMR mÙkj iqfLrdk  dks ,d e'khu }kjk tkapk tk;sxkA ;fn fdlh fLFkfr esa miyC/k tkudkjh] vkosnu i= esa nh x;h tkudkjh ls 

vyx ik;h x;h] rks vkosnd dk vkosnu fujLr dj fn;k tk;sxkA 

(8) fujh{kd dh vuqefr feyus ds ckn gh dksbZ ijh{kk d{k NksM+ ldrk gSA 

(9) mijksä esa ls fdlh Hkh funsZ'k dk vuqikyu djus esa foQy mEehnokj dks mi;qä  dk;Zokgh@tqekZuk ds fy, mÙkjnk;h le>k tk 

ldrk gSA 

(10)  ftruh tYnh gks lds mruh tYnh vkSj lko/kkuh ls ç'uksa dk mÙkj nsaA dqN loky dfBu gks ldrs gSa vkSj nwljs vklku gks ldrs gSaA 

fdlh Hkh ç'u ij T;knk le; ugha fcrk,aA 

(11)  eksckby Qksu vkSj ok;jysl lapkj midj.k] ijh{kk d{k@dejs esa iwjh rjg ls çfrcaf/kr gSaA dksbZ Hkh vkosnd vius eksckby dk ;k 

fdlh ok;jysl lapkj midj.k dks can djds Hkh vius ikl ugha j[k ldrkA fu;e dk mYya?ku djus ij vkosnd ds fo:) mfpr 

dk;Zokgh dh tk;sxh vkSj mldk vkosnu Hkh fujLr fd;k tk ldrk gSA 

(12)  mÙkj&i= ij dksbZ jQ dke ugha fd;k tkuk pkfg,A 

(13) dksbZ Hkh mEehnokj ijh{kk iwjk gksus ls igys ijh{kk d{k ugha NksM+ ldrk gSA 

 

 

 

 

 

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksys 

TEST FORM NUMBER 
 

vf/kdre vad   % 200 

dqy ç'u          % 200  

fu/kkZfjr le;    % 120 

 

Maximum Marks : 100 

Total Questions : 100 

Time Allowed :   90 Min. 

  
ijh{kkFkhZ dk uke :.............................................................. 

fnuk¡d :.................. ijh{kk dksM ........................................ 

vuqØekad :...................................................................... 

 

 

Maximum Marks : 100 

Total Questions : 100 

Time Allowed :   90 Min. 
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Reasoning Aptitude  

निरे्दश (प्रश्न 1 से 3): दिये गये दिकल्पों में से सोंबदित शब्द/अक्षरपों/सोंख्या 

कप चुदिए। 

 

1. JPC : GMZ : : PUV : ? 

 (A) MRS (B) MSR 

 (C) MQR (D) RMS 

 

2. KLMN : IJKL : : TUVW : ? 

 (A) RSUT (B) VWXY 

 (C) STUV (D) RSTU 

 

3. 5 : 130 : : 6 : ? 

 (A) 210 (B) 212 

 (C) 222 (D) 226 

 

निरे्दश (प्रश्न 4 से 6): दिये गये दिकल्पों में से दिषम शब्द/अक्षरपों/सोंख्या कप 

चुदिए। 

 

4. (A) तीव्र: तेज (B) आलसीीः  सुस्त  

 (C) दिश्वसिीय: िपखेबाज  (D) थकिा: दशदथल 

 

5. (A) CD (B) PR 

 (C) ST (D) WX 

 

6. (A) 234 (B) 345 

 (C) 243 (D) 432 

 

7. दिम्नदलखखत शब्दपों कप शब्दकपश में आिे िाले क्रम के अिुसार 

दलखें। 

 1. Globe 2. Group 

 3. Glitch 4. Gap 

 5. Glade 

 (A) 4, 2, 3, 5, 1 (B) 4, 5, 3, 2, 1 

 (C) 4, 3, 1, 2, 5 (D) 4, 5, 3, 1, 2 

 

निरे्दश (प्रश्न 8 तथा 9): एक अिुक्रम दिया गया है। दिए गए दिकल्पों में से 

िह सही दिकल् चुदिए जप अिुक्रम कप पूरा करे। 

 

8. 2, 4, 13, 41, 106, ? 

 (A) 172 (B) 191 

 (C) 219 (D) 232 

 

9. 7, 19, 42, 87, ? 

 (A) 136 (B) 176 

 (C) 172 (D) 216 

 

10. दिम्नदलखखत दिकल्पों में से िह शब्द चुदिए जप दिए गए शब्द के 

अक्षरपों का प्रयपग करके िही ों बिाया जा सकता। 

 LEGISLATOR 

 (A) RAISE (B) GIST 

 (C) LEGAL (D) GREATER 

 

11. A की िततमाि आयु B की िततमाि आयु का 2 गुिा है। 8 िषत के बाि 

B की िततमाि आयु C के िततमाि आयु का 4 गुिा हपगा। यदि C िे 

अपिा पााँचिााँ जन्मदिि 9 साल पहले मिाया था, तप A की िततमाि 

आयु (िषों में) क्या है? 

 (A) 88 (B) 96 

 (C) 92 (D) 84 

 

12. पलत टािर, स्काई टािर की तुलिा में ऊाँ चा है लेदकि यूदिटी टािर से 

कम ऊाँ चा है। यूदिटी टािर और साइबर टािर की ऊचाई 

एकसमाि है। पलत टािर इोंडस टािर से कम ऊाँ चा है। इि टािरपों, 

िूसरा सबसे कम ऊाँ चा कौि है? 

 (A) पलत टॉिर (B) स्काई टॉिर  

 (C) इोंडस टॉिर (D) यूदिटी टॉिर 

 

13. दकसी साोंकेदतक भाषा में, ‘MATCH’ कप  ‘NYWYM’ दलखा जाता 

है तथा  ‘BOARD’ कप  ‘CMDNI’ दलखा जाता है, तप उसी 

साोंकेदतक भाषा में  ‘PRINT’ कप दकस प्रकार दलखा जाएगा? 

 (A) YJLPQ (B) ZIMOR 

 (C) ROMIZ (D) QPLJY 

 

14. यदि ‘+’ का अथत "भाग", ‘×’ का अथत "जपड़", ‘÷’ का अथत "घटाि" 

तथा ‘–’ का अथत "गुणा" है, तप 54 + 162 – 18 × 12 ÷ 6 = ? 

 (A) 4 (B) 16 

 (C) 12 (D) 10 

 

15. यदि (3)2 @ 1 * 7 = 98 तथा (4)2 @ 2 * 16 = 178 है, तप (5)2 

@ 3 * 9 = ? 

 (A) 218 (B) 262 

 (C) 253 (D) 259 

 

16. दिम्नदलखखत प्रश्न में दिए गए दिकल्पों में से लुप्त सोंख्या ज्ञात कीदजए। 

  

 (A) 54 (B) 60 

 (C) 62 (D) 66 

 

17. िीचे िी गई आकृदत में दकतिे दिभुज है? 

  

 (A) 11 (B) 12 

 (C) 13 (D) 15 

 

निरे्दश (18): दिम्नदलखखत प्रश्न में, िप कथि दिया गया है दजिके आगे िप 

दिष्कषत (I) और (II) दिकाले गए हैं। आपकप माििा है दक कथि 

सत्य है चाहे िे सामान्यतीः  ज्ञात तथ्पों से दभन्न प्रतीत हपते हैं। आपकप 

दिणतय करिा है दक दिए गए दिष्कषों में से कौि सा/कौि से दिदित 

रूप से कथिपों द्वारा सही दिकाला जा सकता है/सकते हैं, यदि कपई 

हप। 

 दिया है: 

 (A) केिल दिष्कषत (I) सही है।  

 (B) केिल दिष्कषत (II) सही है।  

 (C) िपिपों दिष्कषत सही हैं।  

 (D) ि तप दिष्कषत (I) और ि ही दिष्कषत (II) सही है। 

 

18. कथि: I. सभी कप पे्लटें हैं। 

 II. कपई पे्लट िुकाि िही ों है। 

 निष्कर्ष: I. कपई कप िुकाि िही ों है। 

 II. कपई िुकाि पे्लट िही ों है। 

 

19. एक घि की िप खथथदत िीचे दिखाई गई हैं। ‘B’ फलक िाले के 

सामिे क्या आएगा? 

  

 (A) Q (B) T 

 (C) S (D) Q or T 
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20. िी गई आकृदत में, दकतिे सोंगीत खखलौिे हैं? 

  

 (A) 53 (B) 61 

 (C) 42 (D) 45 

 

21. दिम्नदलखखत में से कौि सी उत्तर आकृदत प्रश्न में िी गई आकृदत कप 

पूरा करती है? 

 प्रश्न आकृनत: 

  

 उत्तर आकृनतया¡: 

   

 (A) 1 (B) 2 

 (C) 3 (D) 4 

 

22. दिम्नदलखखत प्रश्न में िी गई उत्तर आकृदतयपों में से उसे चुदिए जप प्रश्न 

आकृदत में दिदहत है? 

 प्रश्न आकृनत: 

  

 उत्तर आकृनतयााँ:  

  

 (A) 1 (B) 2 

 (C) 3 (D) 4 

 

23. यदि एक िपतण कप MN रेखा पर रखा जाये तप िी गई उत्तर 

आकृदतयपों में से कौि-सी आकृदत प्रश्न आकृदत का सही प्रदतदबम्ब 

हपगी? 

 प्रश्न आकृनत: 

  

 उत्तर आकृनतयााँ: 

  

 (A) 1 (B) 2 

 (C) 3 (D) 4 

 

24. अगर दकसी कागज कप प्रश्न आकृदतयपों में दिखाए गए दचि अिुसार 

मपड़कर काटा जाए तप खपलिे के बाि िह दकस उत्तर आकृदत जैसा 

दिखाई िेगा? 

 

 प्रश्न आकृनतयााँ: 

  

 उत्तर आकृनतयााँ: 

  

 (A) 1 (B) 2 

 (C) 3 (D) 4 

 

25. लड़कपों की एक पोंखि में, साथतक शुरुआत से 7 िें और अोंत से 11 िें 

थथाि पर है। लड़कपों की एक और पोंखि में, दिजय शुरुआत से 10 

िें और अोंत से 12 िें थथाि पर है। िपिपों पोंखियपों में एक साथ दकतिे 

लड़के है? 

 (A) 38 (B) 32 

 (C) 40 (D) 48 

 

निरे्दश (प्रश्न 26 से 28): दिये गये दिकल्पों में से सोंबदित शब्द/अक्षरपों/ 

सोंख्या कप चुदिए। 

 

26. गदणत : सूि :: रसायि : ? 

 (A) अदभदक्रया (B) जीि 

 (C) प्रमेय (D) गुरुत्वाकषतण 

 

27. BPTW : CQUX : : CHNS : ? 

 (A) DIST (B) DIOT 

 (C) BGOT (D) DSTO 

 

28. 49 : 169 : : 36 : ? 

 (A) 126 (B) 132 

 (C) 144 (D) 162 

 

निरे्दश (प्रश्न 29 से 31): दिये गये दिकल्पों में से दिषम शब्द/अक्षरपों/सोंख्या 

कप चुदिए। 

 

29. (A) मपबाइल (B) कों पू्यटर 

 (C) फाउोंटेि पेि (D) टेलीदिजि 

 

30. (A) BN – P (B) GI – R 

 (C) LM – Y (D) TA – U 

 

31. (A) 26 (B) 50 

 (C) 82 (D) 120 

 

32. दिम्नदलखखत शब्दपों कप शब्दकपश में आिे िाले क्रम के अिुसार 

दलखें। 

 1. Train  2. Topper 

 3. Tingling 4. Tumbler 

 5. Traction 

 (A) 2, 3, 5, 4, 1 (B) 3, 2, 1, 5, 4 

 (C) 2, 5, 3, 1, 4 (D) 3, 2, 5, 1, 4 

 

निरे्दश (प्रश्न 33 तथा 34): एक अिुक्रम दिया गया है। दिए गए दिकल्पों में 

से िह सही दिकल् चुदिए जप अिुक्रम कप पूरा करे। 

 

33. BT, DR, FP, ? 

 (A) HO (B) HN 

 (C) NH (D) OH 
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34. FK27, LQ64, RW125, ? 

 (A) CX216 (B) XB216 

 (C) XC216 (D) YB343 

 

35. दिम्नदलखखत दिकल्पों में से िह शब्द चुदिए जप दिए गए शब्द के 

अक्षरपों का प्रयपग करके िही ों बिाया जा सकता। 

 REASONABLE 

 (A) EASE (B) NOBLE 

 (C) SEASON (D) SOLAR 

 

36. एक मदहला की ओर इशारा करते हुए, दििाकर िे कहा, ‘’उसकी 

माता का इकलौता पौि मेरा पुि है।‘’ उस मदहला का दििाकर से 

क्या सोंबोंि है? 

 (A) मौसी (B) बहि 

 (C) माता (D) पुिी 

 

37. दकसी साोंकेदतक भाषा में, "PUNISHED" कप "288" दलखा जाता है 

तथा "TAILOR" कप "225" दलखा जाता है, तप उसी साोंकेदतक भाषा 

में "RELEASED" कप दकस प्रकार दलखा जाएगा? 

 (A) 207 (B) 237 

 (C) 225 (D) 243 

 

38. दकसी साोंकेदतक भाषा में, "TREASON" कप "RKWWINX" दलखा 

जाता है तथा "POULTRY" कप "CNXHYKT" दलखा जाता है, तप 

उसी साोंकेदतक भाषा में "NUMBER" कप दकस प्रकार दलखा 

जाएगा? 

 (A) NIXQQR (B) JAIFAV 

 (C) RQQXIN (D) VAFIAJ 

 

39. यदि "P" का अथत "गुणा", "R" का अथत "घटाि", "S" का अथत 

"जपड़" तथा "Q" का अथत "भाग" है, तप दिम्नदलखखत में से कौि सा 

समीकरण सही है? 

 (A) 18 R 60 Q 15 S 2 = 8 (B) 15 S 16 Q 2 P 4 = 47 

 (C) 3 P 5 R 18 Q 3 = 6 (D) 15 S 28 Q 4 P 2 = 27 

 

40. दिम्नदलखखत प्रश्न में, दकि गदणतीय दचन्पों के उपयपग से व्योंजक सही 

हप जाएगी?  

 15 _ 3 _ 4 _ 20 

 (A) ×, ÷ तथा > (B) ÷, × तथा < 

 (C) ÷, × तथा = (D) +, × तथा = 

 

41. यदि 13 # 9 = 94 तथा 18 # 7 = 100 है, तप 24 # 6 = ? 

 (A) 121 (B) 113 

 (C) 148 (D) 115 

 

42. िीचे िी गई आकृदत में दकतिे दिभुज हैं? 

  

 (A) 14 (B) 15 

 (C) 17 (D) 18 

 

निरे्दश (43): दिम्नदलखखत प्रश्न में, िप कथि दिया गया है दजिके आगे िप 

दिष्कषत (I) और (II) दिकाले गए हैं। आपकप माििा है दक कथि 

सत्य है चाहे िे सामान्यतीः  ज्ञात तथ्पों से दभÂ प्रतीत हपते हैं। आपकप 

दिणतय करिा है दक दिए गए दिष्कषों में से कौि सा/कौि से दिदित 

रूप से कथिपों द्वारा सही दिकाला जा सकता है/सकते हैं, यदि कपई 

हप। 

 दिया है: 

 (A) केिल दिष्कषत (I) सही है।  

 (B) केिल दिष्कषत (II) सही है। 

 (C) िपिपों दिष्कषत सही हैं। 

 (D) ि तप दिष्कषत (I) और ि ही दिष्कषत (II) सही है। 

 

43. कथि: I. सभी दकताबें रबड़ हैं। 

 II. सभी सॉपतिर दकताबें हैं। 

 निष्कर्ष: I. सभी दकताबें रबड़ हैं। 

 II. सभी सॉपतिर दकताबें हैं। 

 

44. एक घि की तीि खथथदत िीचे िी गई है। ‘N’ फलक िाले के सामिे 

क्या आएगा? 

  

 (A) P (B) Q 

 (C) S (D) R 

 

45. दिम्नदलखखत दचि आरेखपों में से उसे चुदिए जप िीचे दिए गए िगों के 

बीच सही सोंबोंि कप िशातता है? 

 भार्ा, अंगे्रजी, कन्नड़ 

  

 (A) 1 (B) 2 

 (C) 3 (D) 4 

 

46. दिम्नदलखखत में से कौि सी उत्तर आकृदत प्रश्न में िी गई आकृदत कप 

पूरा करती है? 

 प्रश्न आकृनत: 

  

 उत्तर आकृनतयााँ: 

  

 (A) 1 (B) 2 

 (C) 3 (D) 4 

 

47. दिम्नदलखखत प्रश्न में िी गई उत्तर आकृदतयपों में से उसे चुदिए जप प्रश्न 

आकृदत में दिदहत है?  

 प्रश्न आकृनत: 

  

 उत्तर आकृनतयााँ: 

  

 (A) 1 (B) 2 

 (C) 3 (D) 4 

 

48. यदि एक िपतण कप MN रेखा पर रखा जाये तप िी गई उत्तर 

आकृदतयपों में से कौि-सी आकृदत प्रश्न आकृदत का सही प्रदतदबम्ब 

हपगी?  

 प्रश्न आकृनत: 
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 उत्तर आकृनतयााँ: 

  

 

49. अगर दकसी कागज कप प्रश्न आकृदतयपों में दिखाए गए दचि अिुसार 

मपड़कर काटा जाए तप खपलिे के बाि िह दकस उत्तर आकृदत जैसा 

दिखाई िेगा? 

 प्रश्न आकृनतयााँ: 

  

 उत्तर आकृनतयााँ: 

  

 

50. फुटबॉल से्टदडयम से एक बस चलिा शुरू करती है और पूित की 

ओर 2 दकमी की िूरी तय कर हॉस्टल पहुाँचती है। हॉस्टल से बस 

िायी ों ओर मुड़ कर 4 दकमी की िूरी तय करके दक्रकेट से्टदडयम 

पहुाँचती है। िहााँ से यह बायी ों ओर मुड़ कर 3 दकमी चलती है और 

सू्कल पहुाँचती है। फुटबॉल से्टदडयम के सापेक्ष सू्कल दकस दिशा में 

है? 

 (A) िदक्षण-पदिम (B) िदक्षण-पूित 

 (C) उत्तर-पदिम (D) उत्तर-पूित 

General Studies  

51. सूयत द्वारा दिम्न के कारण ऊजात उत्सदजतत दकया जाता है:  

 (A) रासायदिक अदभदक्रया (B) परमाणु दिखोंडि   

 (C)  परमाणु सोंलयि  (D) उपरपि सभी 

 

52. दिम्नदलखखत में से कौि सा ओजपि क्षयकारी कीटिाशक है? 

 (A) डी.डी.टी.  (B) बेंजीि  

 (C) दमथाइल ब्रपमाइड (D) एदथलीि ओजपिाइड 

 

53. अगर सोंपकत  कपण है तप द्रि ठपस की सतह कप गीला िही ों करेगा:   

 (A) नू्यि कपण (B) अदिक कपण  

 (C) शून्य (D) /2 

 

54. भूमोंडलीय तापिृखि मुख्य रूप से सोंचयि के कारण हपता है:   

 (A) िाइटर पजि के ऑक्साइड  (B) सल्फर के ऑक्साइड  

 (C) काबति डाइऑक्साइड (D) काबति मपिपऑक्साइड 

 

55. सूचिा का अदिकार (RTI) अदिदियम का उदे्दश्य है:  

  (A) साितजदिक प्रादिकरणपों के सूचिा तक सुरदक्षत पहुाँच 

 (B) सूचिा पािे िाले व्यदत्तफ़ द्वारा साितजदिक रूप से जािकारी 

प्रिाि करिा  

 (C) साितजदिक थथाि पर सरकार द्वारा सूचिा प्रिाि करिा  

 (D) पुदलस द्वारा अपरादियपों से जािकारी प्राप्त करिा 

 

56. डायिेमप में पररिदततत करिे िाला एक उपकरण है:  

 (A) ऊष्मा ऊजात कप दिि्युत ऊजात में बिलिा  

 (B) याोंदिक ऊजात कप दिि्युत ऊजात में  

 (C) दिि्युत ऊजात कप चुोंबकीय ऊजात में  

 (D) रासायदिक ऊजात कप दिि्युत ऊजात में 

57. H2O द्रि है और H2S गैस है क्यपोंदक:  

 (A) ऑक्सीजि सल्फर की तुलिा में मजबूत हाइडर पजि बोंिि 

बिाती है  

 (B) ऑक्सीजि सल्फर की तुलिा में कम दिि्युतीय है  

 (C) ऑक्सीजि का परमाणु दिज्या सल्फर से कम है  

 (D) ऑक्सीजि का परमाणु दिज्या सल्फर से अदिक हपता है 

 

58. राष्ट्र ीय आपातकाल के िौराि भी दिम्नदलखखत में से दकसकप 

दिलोंदबत या प्रदतबोंदित िही ों दकया जा सकता है? 

 (A) िेश के दकसी भी दहसे्स में दििास करिे और बसिे का 

अदिकार 

 (B) जीिि का अदिकार और व्यदत्तफ़गत स्वतोंिता का अदिकार  

 (C) पूरे भारत में स्वतोंि रूप से आिे-जािे का अदिकार 

 (D) दकसी पेशे या व्यिसाय कप करिे का अदिकार 

 

59. स्विेशी आोंिपलि शुरू दकया गया था:  

 (A) बोंगाल दिभाजि के दिरपि के रूप में  

 (B) भारतीय िसु्तओों के उपभपग कप प्रपत्सादहत करके लपगपों की 

आदथतक खथथदत में सुिार लािे के दलए  

 (C) जदलयाोंिाला बाग में भारतीय लपगपों के िरसोंहार के दिरपिस्वरुप 

 (D) दब्रदटश सरकार द्वारा भारत में उत्तरिायी सरकार लािे में 

दिफल रहिे के कारण 

 

60. पृथ्वी की सबसे भीतरी परत कहलाता है:  

 (A) थथलमोंडल  (B) मध्यमोंडल  

 (C) िुबतलतामोंडल  (D) गुरुमण्डल 

 

61. राष्ट्र ीय खेल दििस दकस तारीख कप मिाया जाता है:  

 (A) 15 अगस्त (B) 29 अगस्त 

 (C) 1 दसतोंबर (D) 9 दसतोंबर 

 

62. भारत के सकल घरेलू उत्पाि में दिदभन्न स्रपतपों के यपगिाि के घटते 

क्रम में दिम्नदलखखत में से कौि सा क्रम सही है:  

 (A) सेिा-उद्यपग-कृदष  (B) सेिा-कृदष-उद्यपग 

 (C) उद्यपग-सेिा-कृदष (D) उद्यपग-कृदष-सेिा 

 

63. ििरत्न सरकारी उपक्रम दिम्न में से कौि सा है:  

 (A) महािगर टेलीफपि दिगम दलदमटेड 

 (B) कों टेिर कॉपोरेशि ऑफ इोंदडया दलदमटेड 

 (C) एमएमटीसी दलदमटेड  

 (D) कपयला इोंदडया दलदमटेड 

 

64.   सीबीडीटी िे आयकर (आईटी) ररटित िाखखल करिे के दलए पैि-

आिार दलोंक करािे की समय सीमा 31 माचत 2020 तक बढ़ा िी है। 

यहााँ ‘पैि’ का अथत है:   

 (A) थथायी खाता सोंख्या  (B) व्यखिगत प्रिेश सोंख्या 

 (C) व्यखिगत खाता सोंख्या (D) डाक सोंबोंिी खाता सोंख्या 

 

65. कलराज दमश्र िे दसतोंबर 2019 में दकस राज्य के िए राज्यपाल की 

शपथ ली थी:  

 (A) राजथथाि  (B) मध्य प्रिेश 

 (C) केरल  (D) उड़ीसा 

 

66. बीजापुर राज्य के सोंथथापक दिम्नदलखखत में से कौि थे:  

 (A) यूसुफ आदिल शाह (B) मुराि दद्वतीय  

 (C) महमूि दद्वतीय  (D) इब्रादहम जुबैरी 

 

67. साितजदिक थथािपों पर िाई-फाई किेखिदिटी िेिे िाला भारत का 

पहला शहर कौि सा है:  

 (A) मुोंबई  (B) िई दिल्ली 

 (C) कपलकाता  (D) चेन्नई 

 

68. ______ में दिश्व की सबसे लोंबी बलुआ पत्थर की गुफा खपजी गई है।  
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 (A) मेघालय (B) दिपुरा  

 (C) असम (D) िागालैंड 

 

69. अलाई िरिाजा का दिमातण दिम्नदलखखत में से दकसिे करिाया था?  

 (A) अकबर  (B) जहााँगीर  

 (C) अल्लाउद्दीि खखलजी  (D) हुमायूाँ 

 

70. दिम्नदलखखत में से कौि सी ििी ऑदलि ररडले कछुओों के दलए िीड़ 

की तरह कायत करती है:  

 (A) िेिी ििी  (B) पेन्नार ििी  

 (C) हुगली ििी  (D) भीमा ििी 

 

71. भारत का सबसे उत्तरी दबोंिु ______ है।  

 (A) इोंदिरा हाइट्स  (B) इोंदिरा कपल  

 (C) इोंदिरा पॉइोंट (D) इिमें से कपई िही ों 

 

72. "हेमोंत करकरे % ए डॉटसत मेम्वार,  पुस्तक के लेखक कौि हैं:  

 (A) तू्य करकारे ििारे (B) अजय दसोंह  

 (C) अरुों िदत रॉय  (D) चेति भगत 

 

73. दकस राज्य के पररिहि दिभाग िे हाल ही में मदहलाओों के दलए 

िादमिी, िामक एक हेल्लाइि शुरू की है:  

 (A) उत्तर प्रिेश  (B) उत्तराखोंड   

 (C) महाराष्ट्र   (D) राजथथाि 

 

74. रायदसिा डायलॉग दकस मोंिालय द्वारा आयपदजत एक िादषतक बहु-

पादश्वतक समे्मलि है:   

 (A) दििेश मोंिालय (B) पयतटि मोंिालय 

 (C) दित्त मोंिालय (D) कों पिी मामले का मोंिालय 

 

75. दकस भारतीय शहर िे अखखल भारतीय पुदलस जूडप क्लस्टर 

चौखियिदशप 2019 की मेजबािी की:  

 (A) गुिाहाटी  (B) कटक  

 (C) िई दिल्ली (D) गपिा 

 

76. दिम्नदलखखत में से दकस अदिदियम द्वारा सरकारी सहायता प्राप्त 

सू्कलपों और कॉलेजपों में अोंगे्रजी कप दशक्षा का अदििायत माध्यम 

बिाया गया? 

 (A) दपट इोंदडया अदिदियम, 1784 

 (B) शैदक्षक आिेश पि, 1854 

 (C) मैकाले दििरण पि, 1835 

 (D) रेगुलेदटोंग अदिदियम, 1773 

 

77. सोंदििाि में मूल कततव्यपों कप जपड़ा गयाीः  

 (A) 24 िााँ सोंशपिि (B) 39 िााँ सोंशपिि 

 (C) 42 िााँ सोंशपिि (D) 44 िााँ सोंशपिि 

 

78. भारत के सोंदििाि के अिुचे्छि 25 में उखल्लखखत ‘दहोंिु’ शब्द में 

शादमल िही ों है? 

 (A) बौि (B) जैि 

 (C) दसख  (D) पारसी   

 

79. बहािुर शाह II थेीः  

 (A) अोंदतम लपिी का शासक 

 (B) अोंदतम मुगल शासक 

 (C) शेरशाह का उत्तरादिकारी 

 (D) मराठा शासक दशिाजी का उत्तरादिकारी 

  

80. दिम्नदलखखत में से कौि सी एक अपूिातिुमेय प्राकृदतक आपिा है? 

 (A) भूकों प (B) चक्रिात 

 (C) बिोंडर (D) तूफाि 

 

81. ______ िे मुगल साम्राज्य का िदक्षण में तदमल के्षि तक दिस्तार 

दकया। 

 (A) अकबर (B) औरोंगजेब 

 (C) जहााँगीर (D) शाहजहााँ 

 

82. दिम्नदलखखत में से कौि सी भारत की सबसे ऊों ची पितत चपटी है? 

 (A) कों चिजोंगा (B) िोंिा िेिी 

 (C) रेमप पीक (D) कामेत  

  

83. SIDBI का मुख्यालय कहााँ है? 

 (A) लखिऊ (B) मुम्बई 

 (C) कािपूर (D) दिल्ली 

 

84. भारत ______ गपलाित में खथथत है। 

 (A) उत्तरी और पूिी (B) िदक्षणी और पूिी 

 (C) उत्तरी और पदिमी (D) िदक्षणी और पदिमी 

 

85. भारत के बाहर िुदिया का पहला यपग दिश्वदिद्यालय कहााँ शुरू 

दकया गया है? 

 (A) पेररस, फ्ाोंस (B) लॉस एों दजल्स, यू-एस 

 (C) बु्रसेल्स, बेखियम (D) मॉस्कप, रूस 

 

86. 2020 में भारतीय गणतोंि दििस समारपह में मुख्य आदिकाररक 

अदतदथ कौि थे? 

 (A) ब्राजील के राष्ट्र पदत (B) चीि के राष्ट्र पदत 

 (C) फ्ाोंस के राष्ट्र पदत (D) यू-एस-ए- के राष्ट्र पदत 

  

87. दिम्नदलखखत में से दकस िेश का िि-के्षिफल दिश्व में सिातदिक है? 

 (A) यूएसए (B) चीि 

 (C) रूस (D) िदक्षण अफ्ीका 

 

88. इलेखिर क कारपों में इसे्तमाल हपिे िाली बैटररयपों के दलए दिम्नदलखखत 

में से कौि सा आिश्यक तत्त्व है? 

 (A) मैग्नीदशयम (B) सपदडयम 

 (C) दलदथयम (D) ब्रपदमि 

 

89. दिम्न में से कौि सा मुफ्तजीिी बैिीररया िही ों है, जप िाइटर पजि 

खथथरीकरण में मिि करता है? 

 (A) ऐजपटपबैिर (B) एिाबीिा 

 (C) मपरेके्सला (D) िपस्टपक 

 

90. एयर कों डीशिर में दिम्नदलखखत में से दकस गैस का उपयपग दकया 

जाता है? 

 (A) हाइडर पजि (B) काबति-डाइऑक्साइड 

 (C) काबति मपिपऑक्साइड (D) फ्ीि 

 

91. अलेगू्यदमिपस पािपपों में पाया जािे िाला िाइटर पजि खथथरीकारक 

बैिीररया, हैीः  

 (A) ऐजपटपबैिर (B) िाइटर पबेिर 

 (C) राइजपदबया  (D) सू्यडपमपिास 

 

92. िेशिल एसपदसएशि ऑफ सॉफ्टिेयर एों ड सदितसेज कों पिीज 

(िैसकॉम) की पहली मदहला अध्यक्ष के रूप में दकसे दियुि दकया 

गया है? 

 (A) शोंख घपष (B) बद्री िारायण शमात 

 (C) िेबजािी घपष (D) उपरपि में से कपई िही ों 

  

93. दिम्नदलखखत में से कौि सा मुख्य रूप से प्रिूषण का कारक है? 

 (A) सीएफएल लैंप (B) मपटरगाड़ी की बैटरी 

 (C) बहुलक (D) डीजल इोंजि 

 

94. 2019 दफल्मफेयर में दिम्नदलखखत में से दकसे सितशे्रष्ठ अदभिेिी का 

पुरस्कार प्राप्त हुआ? 
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 (A) आदलया भट्ट (B) अिुष्का शमात 

 (C) िीदपका पािुकपण (D) ऐश्वयात राय 

 

95. दिम्न में से दकस प्रकार की अथतव्यिथथा में उत्पािि के कारक के 

स्वादमत्व व्यखिगत हपते हैं? 

 (A) समाजिािी (B) पूाँजीिािी 

 (C) दमदश्रत (D) (A) तथा (B) िपिपों 

 

96. साितजदिक के्षि में 1960 में पहला भारी दिि्युत उपकरण दिमातण 

सोंयोंि में खपला गया हैीः  

 (A) भपपाल (B) िुगातपुर 

 (C) हैिराबाि (D) रािीपुर (हररद्वार के पास) 

 

97. अशपक चक्र पुरस्कार ______ के दलए दिया जाता है। 

 (A) सेिा में सबसे दिदशष्ट् बहािुरी (B) दिज्ञाि के के्षि 

 (C) राजिीदत (D) खेलपों में साहस 

 

98. मािि कप अोंतररक्ष कक्षा में थथादपत करिे िाली पहली दिजी कों पिी 

कौि सी है? 

 (A) बू्ल ओररदजि (B) से्पस एक्स 

 (C) स्कालेड कों पपदजट (D) िदजति गेलेखिक 

 

99. दशरपिारा, दजसे हाल ही में स्वास्थ्य मोंिलय िे उजागर दकया था, 

दकस थेरेपी से जुड़ी है? 

 (A) ररग्पा (B) यूिािी 

 (C) आयुिेि (D) पारोंपररक चीिी दचदकत्सा 

 

100. रपहताोंग िरात के िीचे बिी सामररक सुरोंग का िाम हाल ही में 

दिम्नदलखखत में से दकस व्यखि के िाम पर रखा गया है? 

 (A) इोंदिरा गााँिी (B) िल्लभाई पटेल 

 (C) मपरजी िेसाई (D) अटल दबहारी िाजपेयी 

Quantitative Aptitude          

101. पााँच अोंकपों की सबसे बड़ी सोंख्या ज्ञात कीदजए जप एक पूणत िगत है। 

 (A) 99999 (B) 99764 

 (C) 99976 (D) 99856 

 

102. 64 123, 10 25  अिरपही क्रम में व्यिखथथत करें।  

 (A)  6 4 1210 3 25  (B)   612 425 3 10  

 (C)  6 12 410 25 3  (D)   64 123 25 10  

 

103. अलग-अलग कीमतपों िाली सपडा िाटर की िप दकस्पों कप 2: 3 के 

अिुपात में दमलाया जाता है। एक सपडा िाटर की कीमत ₹ 10 प्रदत 

लीटर है, और िूसरे सपडा िाटर की कीमत ₹ 15 प्रदत लीटर है। 

दमश्रण की औसत कीमत है:  

 (A) ₹ 13 (B) ₹ 15 

 (C) ₹ 16 (D) ₹ 20 

 

104. A, B से 30% अदिक कायतकुशल है। एक साथ कायत करिे में उन्ें 

दकतिा समय लगेगा, यदि A अकेले 23 दिि में उसे कर सकता था? 

 (A) 16 दिि (B) 15 दिि  

 (C) 10 दिि (D) 13 दिि 

 

105. एक छाि अपिे घर से 
1

2
2

दकमी/घोंटा की रफ्तार से चलता है और 

सू्कल 6 दमिट की िेरी से पहुाँचता है। अगले दिि, िह अपिी गदत 1 

दकमी/घोंटा बढ़ाता है और सू्कल समय से 6 दमिट पहले पहुाँचता है। 

उसके घर से सू्कल दकतिी िूर (दकमी में) है? 

 (A) 
5

4
 (B) 

7

4
 

 (C) 
9

4
 (D) 

11

4
 

106. 3 िपस्त की औसत आयु 32 िषत है। अगर चौथे िपस्त की आयु कप 

भी जपड़ दिया जाए तप उिकी औसत आयु 31 िषत हप जाती है। चौथे 

दमि की आयु दकतिी है:  

 (A) 32 िषत (B) 28 िषत 

 (C) 24 िषत (D) 26 िषत 

 

107. मपदहत अपिे मादसक िेति का 24% भपजि पर और 15% अपिे 

बच्पों की दशक्षा पर खचत करता है। शेष िेति में से, िह 25% 

मिपरोंजि पर और 20% पररिहि पर खचत करता है। अब उसके 

पास ₹ 10736 बचा हुआ है। मपदहत का मादसक िेति क्या है? 

  (A) ₹ 27600 (B) ₹ 28000 

 (C) ₹ 31200 (D) ₹ 32000 

 

108. ₹ 169 का िततमाि ििरादश क्या हपगा जप 2 िषत में 4% िादषतक 

चक्रिृखि ब्याज के रूप में प्राप्त दकया गया था? 

 (A) ₹ 156.25 (B) ₹ 160  

 (C) ₹ 150.50 (D) ₹ 154.75 

 

109. एक फेरीिाला ₹ 14 में 5 िी ोंबू बेचता है दजससे उसे 40% लाभ हपता 

है। उसिे एक िजति िी ोंबू दकतिे में खरीिा था:   

 (A) ₹ 20 (B) ₹ 21 

 (C) ₹ 24 (D) ₹ 28 

 

110. एक आिमी िे 20% की हादि पर एक िसु्त बेचा। यदि िह ₹ 12 

अदिक में िसु्त बेचता है, तप उसे 10% प्राप्त हपता। िसु्त का क्रय-

मूल्य है:  

 (A) ₹ 60 (B) ₹ 40 

 (C) ₹ 30 (D) ₹ 22 

 

111. एक समकपण दिभुज का के्षिफल 10 िगत सेमी है। यदि इसका लोंब 

20 सेमी है, तप इसका आिार ज्ञात करें। 

 (A) 1 सेमी (B) 4 सेमी 

 (C) 3 सेमी     (D) 2 सेमी 

 

112. ₹ 20 प्रदत मीटर की िर से 75 सेंटीमीटर चौड़ा कालीि से 8 मीटर 

लोंबा और 6 मीटर चौड़ा कमरा के फशत पर कालीि दबछािे का 

खचात ज्ञात कीदजए। 

 (A) ₹ 1300 (B) ₹ 1500 

 (C) ₹ 1750 (D) ₹ 1280 

 

113. यदि 
− − −

+ + =
11 13 11 13 11 13

5
x y z

x y z
 है, तप  + +

1 1 1

x y z
 

का माि क्या है:  

 (A) 1 (B) 
13

11
 

 (C) 
13

5
 (D) 4 

 

114. यदि 
 −

= 
+ 

5 3

5 7

x y

x y
 है, तप  

 +
 
 + + 

2

2 2

4 4

9 16 24

x xy

x y xy
 का माि क्या 

है:  

 (A) 
12

121
 (B) 

3

7
 

 (C) 
18

49
 (D) 

1

6
 

 

115. − −
+

+ +( ) ( )

1 1

1 1p q q px x
 का माि क्या है:  

 (A) 0 (B) 1 

 (C) x(p-q) (D) x(p+q) 
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116. यदि दकसी दिभुज का कपण समदद्वभाजक समु्मख भुजा कप 

समदद्वभादजत करता है, तप यह दकस प्रकार का दिभुज है: 

 (A) समकपण  (B) दिषमबाहु 

 (C) समरूप  (D) समदद्वबाहु 

 

117. 6 सेमी दिज्या िाले तीि िृत्त एक िूसरे कप बाह्यतीः  स्पशत करते हैं। 

एक िृत्त के कें द्र से अन्य िप िृत्त के कें द्र कप दमलािे िाली रेखा की 

िूरी (सेमी में) हपगी: 

  (A) 6 5  (B) 6 3  

 (C) 6 2  (D) 6 7  

 

118. दिभुज ABC का I अोंतीः  कें द्र है। ABC = 60° और ACB = 50° 

है, तप BIC ______ है। 

 (A) 55° (B) 125° 

 (C) 70° (D) 65° 

 

119. यदि sin θ + sin 5θ = sin 3θ तथा 0 < θ < 
 

 
 

 है, तप θ का 

माि (दडग्री में) क्या है:  

 (A) 30 (B) 45 

 (C) 60 (D) 75 

 

120. 

 
 
 
 + 
 

2

cot tan
2 2

A A  का सरलीकृत माि क्या है:  

 (A) sin A (B) cos
2

A
 

 (C) cos2A (D) 2sin
2

A
 

 

निरे्दश (प्रश्न 121 से 125): िीचे दिए गए रेखा दचि का ध्यािपूितक अध्ययि 

कीदजए और दिम्नदलखखत प्रश्नपों के उत्तर िीदजए।  

 दिम्नदलखखत रेखा दचि में िप कों पिी X और Y द्वारा दिदभन्न िषों में 

अदजतत प्रदतशत लाभ कप दिखाया गया है। 

  

  

 

121. यदि िषत 2013 और 2014 में कों पिी X का व्यय का अिुपात 3: 4 

है, तप इि िप िषों में उिकी आय का अिुपात क्या था? 

 (A) 12 : 17 (B) 6 : 11 

 (C) 21 : 31 (D) ज्ञात िही ों दकया जा सकता  

 

122. यदि 2010 में कों पिी X और Y  का कुल व्यय ₹ 85 लाख है, तप उस 

िषत िपिपों कों पिी की कुल आय क्या थी? 

 (A) ₹ 10.2 दमदलयि (B) ₹ 11.05 दमदलयि 

 (C) ₹ 10.625 दमदलयि (D) ज्ञात िही ों दकया जा सकता  

 

123. 2010 में कों पिी X की आय, ₹ 42 लाख  थी, जप िषत 2011 में 40% 

बढ़ गई। 2011 में कों पिी X का व्यय (₹ लाख) में लगभग दकतिा 

था? 

 

 (A) 58 (B) 49 

 (C) 54 (D) 42 

 

124. यदि िषत 2015 में X और Y  कों पिी की कुल आय ₹ 15.75 

दमदलयि थी, तप उस िषत की िपिपों कों पिी का व्यय दकतिा है? 

 (A) ₹ 73 लाख (B) ₹ 50 लाख 

 (C) ₹ 68 लाख (D) ज्ञात िही ों दकया जा सकता 

 

125. यदि 2011 में िपिपों कों पिी की आय बराबर थी, तप उस िषत कों पिी 

X और Y के व्यय का अिुपात क्या था? 

 (A) 9 : 8 (B) 8 : 9 

 (C) 4 : 7 (D) इिमें से कपई िही ों 

 

126. िप सोंख्याओों का अोंतर उिके यपग का 1/9 भाग है। उिका यपग 45 

है। उिका लघुत्तम समापित्यत ज्ञात कीदजए। 

 (A) 225 (B) 100 

 (C) 150 (D) 200 

 

127. 2 , 6 3 , 3 4 तथा 4 5  में सबसे बड़ा कौि है? 

 (A) 3 4  (B) 4 5  

 (C) 2  (D) 6 3  

 

128. चार अोंक की सबसे बड़ी सोंख्या ज्ञात करें , जप 12, 15, 18 और 27 

द्वारा पूणततीः  दिभाज्य है। 

 (A) 9820 (B) 9430 

 (C) 9520 (D) 9720 

 

129. एक टोंकी सामान्यतीः  4 घोंटा में भरा जाता है, लेदकि इसके पेंिी में 

ररसाि हपिे के कारण इसे भरिे में 1 घोंटा अदिक समय लगता है। 

यदि टोंकी भरा हुआ है, तप ररसाि दकतिे घोंटपों में इसे खाली कर 

िेगा? 

 (A) 10 घोंटे (B) 20 घोंटे 

 (C) 15 घोंटे (D) 12 घोंटे 

 

130. एक तैराक की गदत अिुप्रिाह में 11 दकमी/घोंटा है और िारा की 

गदत 1.5 दकमी/घोंटा है। तैराक की प्रदतकूल गदत ज्ञात करें। 

 (A) 8 दकमी/घोंटा (B) 9.5 दकमी/घोंटा 

 (C) 9 दकमी/घोंटा (D) 6.25 दकमी/घोंटा 

 

131. 24 मदहलाओों की औसत आयु 2 महीिा घट जाती है जब 12 िषत, 

13 िषत और 14 िषत की 3 मदहला कप 3 पुरुष द्वारा प्रदतथथादपत 

दकया जाता है। 3 पुरुषपों की औसत आयु ज्ञात करें। 

 (A) 15 िषत  (B) 18 िषत 

 (C) 
2

11
3

 िषत  (D) 
5

5
11

 िषत 

 

132. एक शहर की आबािी प्रदत िषत 5% बढ़ जाती है। यदि िततमाि 

जिसोंख्या 9261 है, तप 3 िषत पहले जिसोंख्या थीीः  

 (A) 5700 (B) 6000 

 (C) 7500 (D) 8000 

 

133. 40 पुरुष िे 30 मीटर गहरा और 25 मीटर चौड़ा स्वीदमोंग पूल में 

डुबकी लगाई। यदि एक आिमी द्वारा औसति 5 मी3 पािी 

दिथथादपत हपता है, तप स्वीदमोंग पूल में जलस्तर में दकतिी िृखि 

(सेमी में) हपगी? 

 (A) 25 (B) 26.66 

 (C) 27.33 (D) 28 

 

134. िूि और पािी के 80 लीटर दमश्रण में 10% िूि है। दमश्रण में पािी 

का प्रदतशत 80% बिािे के दलए दकतिा िूि (लीटर में) दमलाया 

जािा चादहए? 

 (A) 8 (B) 9 

 (C) 10 (D) 12 
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135. ₹ 1750 की रादश पर 2 िषत में 8% िादषतक चक्रिृखि ब्याज की िर 

से दकतिी रादश प्राप्त हपगी? 

 (A) ₹ 2125 (B) ₹ 2041.2  

 (C) ₹ 2100 (D) ₹ 2200 

 

136. एक िुकाििार दकसी िसु्त के अोंदकत मूल्य पर 10% की छूट िेता 

है, लेदकि ररयायती मूल्य पर 8% दबक्री कर लेता है। यदि ग्राहक 

दबक्री कर सदहत मूल्य के रूप में ₹ 729 का भुगताि करता है, तप 

िसु्त का अोंदकत मूल्य क्या है? 

 (A) ₹ 800 (B) ₹ 700 

 (C) ₹ 600 (D) ₹ 750 

 

137. एक बेलिाकार स्तोंभ का िक्र पृष्ठ 264 िगत मीटर और आयति 924 

घि मीटर है। इसके ऊाँ चाई और व्यास का अिुपात हैीः  

 (A) 7 : 3 (B) 3 : 7 

 (C) 7 : 6 (D) 6 : 7 

 

138. एक खेत में 7-5 मीटर लोंबा, 6 मीटर चौड़ा और 1-5 मीटर गहरा 

गक्का खपिा जाता है। दिकाले गए दमट्टी का आयति (मीटर3 में) 

ज्ञात कीदजए। 

 (A) 135 (B) 101.25 

 (C) 50.625 (D) 67.5 

 

139. यदि = +8 2 15x  है, तप +
1

x
x

 का माि क्या है? 

 (A) 2 5  (B) 2 3  

 (C) 
+3 5 3

2
 (D) 

−3 3 5

2
 

 

140. यदि 
+

=
−

3

3

p x

q x
 है, तप 

+

−

2 2

2 2

p q

p q
 का माि क्या है? 

 (A) 
+2 9

3

x

x
 (B) 

+2 18

6

x

x
 

 (C) 
+2 18

3

x

x
 (D) 

+2 9

6

x

x
 

 

141. यदि दकसी सम बहुभुज का एक आोंतररक कपण एक सम-पोंचभुज 

के आोंतररक कपणपों के 5/6 भाग के बराबर है, तप बहुभुज में भुजाओों 

की सोंख्या है: 

 (A) 3 (B) 4 

 (C) 6 (D) 8 

 

142. एक िृत्त का एक जीिा 10.1 सेमी है। इस िृत्त की दिज्या हपगी: 

 (A) 5 सेमी (B) 5 सेमी से अदिक 

 (C) 5 सेमी से अदिक या बराबर (D) 5 सेमी से कम 

 

143. दिए गए दचि में, O िृत्त का कें द्र है और AOB = 90° है, तप 

APB हपगा: 

  

 (A) 90° (B) 60° 

 (C) 45° (D) 30° 

 

144. 
−

+

1 sin

1 sin

A

A
 का सरलीकृत माि क्या है? 

 (A) tan A (B) sec A 

 (C) sec A + tan A (D) sec A – tan A 

 

145. यदि θ नू्यि कपण और tan θ – cot θ = 0 है, तप tan26 θ + 

cot100 θ का माि क्या है? 

 (A) – 2 (B) 0 

 (C) 1 (D) 2 

 

निरे्दश (प्रश्न 146 से 150): िीचे दिए गए िण्ड दचि का ध्यािपूितक अध्ययि 

कीदजए और दिम्नदलखखत प्रश्नपों के उत्तर िीदजए। दिम्नदलखखत िण्ड 

दचि कों पिी द्वारा दिदभन्न िषों में अदजतत लाभ कप िशातता है। 

  

 

146. िषत 2014 में कों पिी का प्रदतशत लाभ क्या है, यदि कों पिी की आय 

₹ 120 करपड़ थी? 

 (A) 100% (B) 120% 

 (C) 133% (D) 140% 

 

147. िषत 2015 में कों पिी का व्यय ₹ 85 करपड़ था। उस िषत में कों पिी के 

व्यय और आय अिुपात क्या है? 

 (A) 23 : 17 (B) 5 : 4 

 (C) 11 : 8 (D) 21 : 16 

 

148. कों पिी द्वारा इि िषों में प्राप्त दकया गया (अिुमादित) औसत 

(करपड़ ₹ में) लाभ क्या है? 

 (A) 50 (B) 48 

 (C) 53 (D) 57 

 

149. िषत 2011 में कों पिी का आय ₹ 950000000 था। उस िषत कों पिी 

का व्यय (₹ में) दकतिा था? 

 (A) 50000000 (B) 550000000 

 (C) 40000000 (D) 3500000000 

 

150. दपछले िषत की तुलिा में िषत 2014 में कों पिी के लाभ में प्रदतशत 

िृखि दकतिी है? 

 (A) 43% (B) 46% 

 (C) 50% (D) 40% 

English Language   

Direction 151 and 152: In the following questions, choose the 
word which is most nearly the SAME in meaning as the 
word given below. 

 
151. Congregation 
 (A) Combination (B) Meeting 
 (C) Assembly (D) Collection 
 
152. Calumniate 
 (A) Approve (B) Slander 
 (C) Warn (D) Delay 
 
Direction 153 and 154: In the following questions, choose the 

word which is most nearly the OPPOSITE in meaning 
as the word given below. 

 
153. Sordid 
 (A) Steady (B) Spotless 
 (C) Generous (D) Splendid 
 
154. Subservient 
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 (A) Aggressive (B) Superior 
 (C) Straight forward (D) Supercilious 
 
Direction 155 and 156: In the following questions, four words 

are given, out of which only one word is incorrectly 
spelt. Find the incorrectly spelt word. 

155. (A) FRESHNER (B) FORLORN 
 (C) FOREIGN (D) FRUITY 
 
156. (A) SPURIOUS (B) STUDIOUS 
 (C) SUBSIDARY (D) SENSIBLE 
 
Direction 157 and 158: In the following questions, some part 

of the sentences have errors and some are correct. 
Find out which part of a sentence has an error. If there 
is no error, your answer is (D) i.e. ‘No error’. 

 
157. A pair of shoes (A)/ were standing (B)/ in the corner. 

(C)/ No error (D) 
 (A) A (B) B 
 (C) C (D) D 
 
158. If I would have realised (A)/ what a bad person my 

friend is (B)/ I would have discarded his friendship. (C)/ 
No error (D) 

 (A) A (B) B 
 (C) C (D) D 
 
Direction 159 and 160: In the following questions, sentences 

are given with blanks to be filled in with an appropriate 
word. Four alternatives are suggested for each 
question. Choose the correct alternative out of the four 
as your answer. 

 
159. The presence of their teacher ______ the chit-chat of 

the girls in the restaurant. 
 (A) limited (B) interrupted 
 (C) inhibited (D) obstructed 
 
160. Thinking that the other candidate was more deserving 

for the post, I ______ in his favour. 
 (A) stood my ground (B) stood out 
 (C) stood over (D) stood off 
 
Direction 161 and 162: In the following questions, four 

alternatives are given for the idioms/phrases. You are 
required to choose the correct meaning of the idioms/ 
phrases being given. 

 
161. French leave 
 (A) Long absence 
 (B) Leave on the pretext of illness 
 (C) Casual leave 
 (D) Absence without permission 
 
162. To play fast and loose 
 (A) To beguile others 
 (B) To be winning sometimes and losing at other times 
 (C) To play with someone’s feelings 
 (D) To act recklessly or irresponsibly 
 
Direction 163 and 164: In the following questions, out of the 

four alternatives, choose the one which can be 
substituted for the given words/sentences. 

 
163. Mania for travel 
 (A) Dromomania (B) Pyromania 
 (C) Biblomania (D) logomania 
 
164. A disease which spreads by contact 
 (A) Infectious (B) Contagious 
 (C) Contiguous (D) Contextual 
 

Direction 165 and 166: In the following questions, a part of 
sentence is underlined. Four alternatives are given to 
the underlined part which will improve the sentence. In 
case no improvement is needed, mark your answer as 
(D) i.e. “No improvement”. 

 
165. The marriage ceremony took place in this very hotel 

last Saturday. 
 (A) was took place (B) did take place 
 (C) was taken place (D) No improvement 
 
166. Sushma was hurried to the station when she dashed 

against the truck. 
 (A) was hurrying (B) had hurried 
 (C) is hurried (D) No improvement 
 
Directions 167 and 168: In the following question, a sentence 

has been given in Active/Passive Voice. Out of the four 
alternatives suggested, choose the one, which best 
expresses the same sentence in Passive/Active Voice. 

 
167. The horse jumped over the fence. 
 (A) The fence was jumped by the horse. 
 (B) The fence might be jumped over by the horse. 
 (C) The fence was jumped over by the horse. 
 (D) The fence by the horse was jumped over. 
 
168. To make the batter add one tablespoonful of baking 

powder to the cake mixture. 
 (A) One tablespoonful of baking powder could be 

added to the cake mixture to make the batter. 
 (B) Let one tablespoonful of baking powder be added to 

the cake mixture to make the batter. 
 (C) Let only one tablespoonful of baking powder be 

added to the cake mixture to make the batter. 
 (D) One tablespoonful of baking powder may be added 

to the cake mixture to make the batter. 
 
Directions 169 and 170: In the question, six statements are 

given, out of which the first and the last statement are 
fixed. Rearrange the remaining statements in the 
correct order and answer the question. 

 
169. 1. Most men spend most of their lives looking after and 

waiting upon machines. 
 P. They must be fed well and kept at right 

temperatures. 
 Q. They might burst with rage and blow up causing ruin. 
 R. If they do not get their meals they refuse to work. 
 S. Machines are very stern masters. 
 6. So, men need to wait upon machines attentively. 
 (A) SPRQ (B) PQRS 
 (C) QSPR (D) RPQS 
 
170. 1. Books have been present since the time the first 

scripts were formed – about 5000 years ago. 
 P. The books of that time looked different from the ones 

available today. 
 Q. Then an important invention, letter press printing, 

also known as 'black art' changed the world. 
 R. Later, the books came in the form of rollers, or texts 

were stapled together and covererd with a wooden 
book cover. 

 S. Initially, people bound the small clay tablets together 
with leather bands. 

 6. There was no longer the need to write text by hand; 
instead copies of text could be made with the help of a 
printing press. 

 (A) PRQS (B) PSRQ 
 (C) SPRQ (D) SRQP 
 
Direction 171 to 175: In the following passage, some of the 

words have been left out. Read the passage carefully 
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and select the correct answer for the given blank out of 
the four alternatives. 

 
 The sun had set but there was still some light in the 

sky. Martin ___(171)___ on his elbow and looked 
___(172)___ through the leaves. In the waters of the 
lake, close to the shore, he saw a ___(173)___ of 
alligators floating quietly. One of the creatures, 
___(174)__ huge one, was lying on a high ___(175)___ 
of sand, a few yard from the water. 

 
171. (A) sat (B) crossed 
 (C) leaned (D) lay 
 
172. (A) into (B) down 
 (C) at (D) for 
 
173. (A) semblance (B) family 
 (C) volume (D) number 
 
174. (A) an (B) a 
 (C) one (D) single 
 
175. (A) bank (B) peak 
 (C) pit (D) pile 
 
Direction 176 and 177: In the following questions, choose the 

word which is most nearly the SAME in meaning as the 
word given below. 

 
176. Forlorn 
 (A) Alone (B) Funny 
 (C) Fearful (D) Fortunate 
 
177. Grotesque 
 (A) Obscene (B) Exaggerated 
 (C) Colourful (D) Pompous 
 
Direction 178 and 179: In the following questions, choose the 

word which is most nearly the OPPOSITE in meaning 
as the word given below. 

 
178. Wreck 
 (A) Ruin (B) Build 
 (C) Swim (D) Relieve 
 
179. Wrath 
 (A) Fury (B) Peace 
 (C) Delight (D) Choler 
 
Direction 180 and 181: In the following questions, four words 

are given, out of which only one word is incorrectly 
spelt. Find the incorrectly spelt word. 

 
180. (A) ADULTRATION (B) ADULATION 
 (C) ADVANCEMENT (D) ADMITTANCE 
 
181. (A) RAPPORT (B) SUBSTANCE 
 (C) GRAVYARD (D) RESISTIBLE 
 
Direction 182 and 183: In the following questions, some part 

of the sentences have errors and some are correct. 
Find out which part of a sentence has an error. If there 
is no error, your answer is (D) i.e. ‘No error’. 

 
182. No sooner she had realised (A)/ her blunder than she 

began (B)/ to take corrective measures. (C)/ No error 
(D) 

 (A) A (B) B 
 (C) C (D) D 
 
183. Once an old hermit (A)/ saw a cat (B)/ pouncing at a rat. 

(C)/ No error (D) 

 (A) A (B) B 
 (C) C (D) D 
 
Direction 184 and 185: In the following questions, sentences 

are given with blanks to be filled in with an appropriate 
word. Four alternatives are suggested for each 
question. Choose the correct alternative out of the four 
as your answer. 

 
184. The High Court ______ the death sentence of the 

prisoner. 
 (A) set down (B) set upon 
 (C) set about (D) set aside 
 
185. The Marxists, following a theory of dialectical 

materialism, contend that man is merely a producing 
animal who supplies his own needs and whose life is 
largely ______ by economic forces. 

 (A) made (B) subordinated 
 (C) moulded (D) subjugated 
 
Direction 186 and 187: In the following questions, four 

alternatives are given for the idioms/phrases. You are 
required to choose the correct meaning of the idioms/ 
phrases being given. 

 
186. To give up the ghost 
 (A) To die 
 (B) To make false appearance 
 (C) To terrify others by acting in suspicious manner 
 (D) To leave useless pursuits 
 
187. To talk one’s head off 
 (A) To talk loudly (B) To talk in whispers 
 (C) To talk to oneself (D) To talk excessively 
 
Direction 188 and 189: In the following questions, out of the 

four alternatives, choose the one which can be 
substituted for the given words/sentences. 

 
188. Walking in sleep 
 (A) Somniloquism (B) Somnambulism 
 (C) Obsession (D) Hallucination 
 
189. Stealing from the writings of others 
 (A) Copying (B) Reframing 
 (C) Reproducing (D) Plagiarism 
 
Direction 190 and 191: In the following questions, a part of 

sentence is underlined. Four alternatives are given to 
the underlined part which will improve the sentence. In 
case no improvement is needed, mark your answer as 
(D) i.e. “No improvement”. 

 
190. There was too many people trying to leave the city.  
 (A) There were too much (B) It was too many 
 (C) There were too many (D) No improvement 
 
191. Without trust any relationship will not be last long.  
 (A) not last (B) not lasting 
 (C) not lasts (D) No improvement 
 
Directions 192 and 193: In the following question, a sentence 

has been given in Active/Passive Voice. Out of the four 
alternatives suggested, choose the one, which best 
expresses the same sentence in Passive/Active Voice. 

 
192. Differential Calculus is being learnt by the girl. 
 (A) The girl has learnt Differential Calculus. 
 (B) The girl is learning Differential Calculus. 
 (C) The girl learns Differential Calculus. 
 (D) The girl was learning Differential Calculus. 
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193. By whom is John looked after? 
 (A) Who is looking after John? 
 (B) Who looks after John? 
 (C) John looks after whom? 
 (D) Whom looks after John? 
 
Directions 194 and 195: In the question, six statements are 

given, out of which the first and the last statement are 
fixed. Rearrange the remaining statements in the 
correct order and answer the question. 

 
194. 1. The first illness I read about was cholera. 
 P. I sat for a while, too frightened to move. 
 Q. I came to malaria. 
 R. As I read the list of symptoms, it seemed to me that 

perhaps I had cholera myself. 
 S. Then, in a kind of dream, I started to turn the pages 

of the book again. 
 6. Yes, there was no doubt about it – I had malaria too. 
 (A) RPSQ (B) PQSR 
 (C) SPQR (D) QSPR 
 
195. 1. Lata was caught in a traffic jam. 
 P. Would she really have to miss the interview? 
 Q. But the vehicles on either side looked as though they 

would be there forever. 
 R. The reason was that she was due to appear for an 

interview in less than half and hour. 
 S. She was fretting : she could not afford to be late. 
 6. Or, worse – would she arrive late and create a bad 

first impression? 
 (A) RSQP (B) RSPQ 

 (C) SRQP (D) SRPQ 
 
Direction 196 to 200: In the following passage, some of the 

words have been left out. Read the passage carefully 
and select the correct answer for the given blank out of 
the four alternatives. 

 
 One fine morning a ____(196)____ man knocked at the 

doors of the home for the aged run by nuns. He told the 
nun in charge that as he was ____(197)____ to Delhi, 
he wanted to leave his servant maid to the 
_____(198)___ of the nuns. He assured the nun of 
sending some money every month ____(199)____ she 
was an orphan. The nun ___(200)___ her saying that 
she had got an excellent master. 

 
196. (A) bad (B) nice 
 (C) good (D) gentle 
 
197. (A) shifted (B) changed 
 (C) transferred (D) moved 
 
198. (A) home (B) custody 
 (C) protection (D) care 
 
199. (A) and (B) though 
 (C) if (D) because 
 
200. (A) praised (B) consoled 
 (C) condoled (D) loved 
 
 

Space for rough work 
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Reasoning Aptitude  

1.(A) J – 3 →G ; P – 3 → M ; C – 3 → Z 

2.(D) K – 2 →I ; L – 2 → J ; M – 2 → K ; N – 2 → L 

3.(C) x :x3 + x 

4.(C) अन्य सभी शब्द एक दूसरे के पर्यार्वयची हैं। 
5.(B) अन्य सभी लगयतयर अक्षर हैं। 

6.(B) सभी संख्ययएँ एक ही अंक से बनी हुई हैं।  

7.(D) शब्दकोश के अनुसयर आने वयले क्रम इस प्रकयर हैं: 

 (4) Gap → (5) Glade → (3) Glitch → (1) Globe → (2) 

Group 
8.(D)  

 

+ + + +

+

⎯⎯⎯→ ⎯⎯⎯→ ⎯⎯⎯→ ⎯⎯⎯→

⎯⎯⎯→

3 3 3 31 1 2 1 3 1 4 1

35 1

2 4 13 41

106 232

 

9.(B) + + + +
⎯⎯⎯⎯→ ⎯⎯⎯⎯→ ⎯⎯⎯⎯→ ⎯⎯⎯⎯→

2 5 2 4 2 3 2 2
7 19 42 87 176

x x x x  

10.(D) केवल एक ही "E" ददए गए शब्द में उपस्थित है। इसदलए, 

"GREATER" शब्द नही ंबनयर्य जय सकतय है। 

11.(B) C की वतामयन आरु् = 5 + 9 = 14 वर्ा 

 8 वर्ा बयद, 

 B की आरु्, 4 × 14 = 56 होगी 

 B की वतामयन आरु् = 56 – 8 = 48 वर्ा 

 अतः  A की वतामयन आरु् = 2 × 48 = 96 वर्ा है 

12.(A)  अनुक्रम बयएं से दयएं आरोही क्रम में हो सकते हैं। 

 दसंधु > सयइबर = एक > मोती > आकयश र्य सयइबर = एक > 

दसंधु > मोती > आकयश  

13.(D)  

 

+

−

+

−

+

⎯⎯⎯→

⎯⎯⎯→

⎯⎯⎯→

⎯⎯⎯→

⎯⎯⎯→

1

2

3

4

5

M N

A Y

T W

C Y

H M

 तिय 

+

−

+

−

+

⎯⎯⎯→

⎯⎯⎯→

⎯⎯⎯→

⎯⎯⎯→

⎯⎯⎯→

1

2

3

4

5

B C

O M

A D

R N

D I

 

 इसी प्रकयर, 

 

+

−

+

−

+

⎯⎯⎯→

⎯⎯⎯→

⎯⎯⎯→

⎯⎯⎯→

⎯⎯⎯→

1

2

3

4

5

P Q

R P

I L

N J

T Y

 

14.(C) 54 ÷ 162 × 18 + 12 – 6? 
 18 – 6 = ? 
 ? = 12 

15.(B) र्हयँ, "@"  कय अिा कुछ नही ंहै, लेदकन "*" कय अिा जोड़ है। 

 (3)2 @ 1 * 7 = 98 
 91 + 7 = 98 
 98 = 98 
16.(D) 4 × 3 + 5 × 2 = 22 ; 2 × 1 + 7 × 6 = 44  
 इसी प्रकयर, 8 × 7 + 5 × 2 = 66 

17.(C)  

  

 दिभुज हैं: 

 1, 2, 3, 4, 12, 23, 34, 41, 345, 67, 56, 5, 6 
 कुल दिभुजो ंसंख्यय = 13 

18.(C)  

  

 दोनो ंदनष्कर्ा कय अनुसरण करते हैं। 

19.(A) N दोनो ंमें उभर्दनष्ठ है। 

 अतः  N B S ; N Q T ; Q, B के सयमने है। 

20.(C) 14 + 28 = 42 
21.(B) 
22.(C) 
23.(B) 
24.(A) 
25.(A)  

  

 दोनो ंपस्िर्ो ंमें कुल लड़के = 17 + 21 = 38 

26.(A)  सूि गदणत में होते हैं। इसी प्रकयर, रसयर्न दवज्ञयन में 

अदभदक्रर्यएँ होती हैं। 

27.(B)  B + 1 →C ; P + 1 → Q ; T + 1 → U ; W + 1 → X 

28.(C)  (X)2 : (X + 6)2 

29.(C)  अन्य सभी इलेक्ट्र ॉदनक गैजेट्स हैं। 

30.(B)  B(2) + N(14) = P(16) 
 L(12) + M(13) = Y(25) 
 T(20) + A(1) = U(21) 
31.(D)  (5)2 + 1 = 26 ; (7)2 + 1 = 50 ; (9)2 + 1 = 82 
 (11)2 – 1 = 120 

32.(D)  शब्दकोश के अनुसयर आने वयले क्रम इस प्रकयर हैं: 

 (3) Tingling → (2) Topper → (5) Traction → (1) 

Train→ (4) Tumbler 

33.(B)  B + 2 → D + 2 → F + 2 → H 

 T – 2 → R –2 → P – 2 → N 

34.(C)  F + 6 → L + 6 → R + 6 → X 

 K + 6 → Q + 6 → W + 6 → C 

 [27 (3)3→ 64 (4)3→ 125 (5)3→ 216 (6)3] 

35.(C)  ददए गए शब्दो ं में केवल एक "S" मौजूद है। इसदलए, 

"SEASON" शब्द नही ंबनयर्य जय सकतय है। 

36.(B)   

  

37.(A)  P(16) + U(21) + N(14) + I(9) + S(19) + H(8) + E(5) + 
D(4) = 96 

 अब, 96 × 3 = 288 

38.(A)  ददए गए शब्द के अक्षरो ंमें  +4 और -4 कय पैटना बयरी-बयरी से 

है और दिर उलटय कोड दकर्य गर्य है। 

39.(B)  15 S 16 Q 2 P 4 = 47 
 15 + 16 ÷ 2 × 4 = 47 
 47 = 47 
40.(C)  15 ÷ 3 × 4 = 20 
 5 × 4 = 20 
 20 = 20 

41.(B)  र्हयँ # कय अिा गुणय है। 

 13 × 9 – (13 + 9 + 1) = 94; 18 × 7 – (18 + 7 + 1) 
42.(C)   
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 दिभुज हैं: 1, 3, 8, 7, 6, 4, 12, 28, 57, 65, 123, 394, 

397, 498, 456, 23894, 39754 
 कुल दिभुजो ं17 हैं। 

43.(C)   

  

 दोनो ंदनष्कर्ा अनुसरण करते हैं। 

44.(D)  पहले और दूसरे पयसे में, 

 P Q N ; P Z R 
 अतः  R, N के दवपरीत है। 

45.(C)  

  

46.(A) 
47.(D) 
48.(A) 
49.(A) 
50.(B)   

 

General Studies         

51.(C)  52.(C)  53.(B)  54.(C)  55.(A)  56.(B)  
57.(A)  58.(B)  59.(A)  60.(D)  61.(B)  62.(A)  
63.(A)  64.(A)  65.(A)  66.(A)  67.(A)  68.(A)  
69.(C)  70.(A)  71.(B)  72.(A)  73.(A)  74.(A)  
75.(C)  76.(C)  77.(C)  78.(D)  79.(B)  80.(A)  
81.(B)  82.(A)  83.(A)  84.(A)  85.(B)  86.(A)  
87.(C)  88.(C)  89.(C)  90.(D)  91.(C)  92.(C)  
93.(B)  94.(A)  95.(B)  96.(B)  97.(A)  98.(B)  
99.(C)  100.(D) 

Quantitative Aptitude            

101.(D) 99856, पयंच अंको ंकी सबसे बड़ी 316 की एक पूणा वगा है। 

102.(A)  4, 6, 12 कय लघुत्तम समयपवर्त्ा 12 है। 

 अतः , अब दभन्न हैं: 

 (3)3, (10)2, (25)1 
 अनुक्रम हैः  (10)2> (3)3> (25)1 

 र्य  6 4 1210 3 25  

103.(A) मयनय दक औसत मूल्य ₹ x है। 

 
−

=
−

15 2

10 3

x

x
 

 2x – 20 = 45 – 3x 
 x = 13 

104.(D) ऐदकक दवदध द्वयरय,  

 B की कयर्ा क्षमतय = 100, तो A की कयर्ा क्षमतय = 130 

 130 × 23 = 230 × x 

 x = 13 ददन 

105.(B) मयनय दक दुरी D दकमी. है। 

 − =
2 2 12

5 7 60

D D
 

 D = 7/4 दकमी. 

106.(B) 3 दमिो ंकी आरु् कय र्ोग = 96 

 4 दोस्ो ंकी आरु् कय र्ोग = 124 

 चौिे दमि की आरु् = 124 - 96 = 28 

107.(D) मयनय दक उसकी आर् 100 है। 

 भोजन = 24; दशक्षय = 15 

 मनोरंजन = 61 × 0.25 = 15.25 

 पररवहन = 61 × 0.2 = 12.2 

 मयदसक आर् =  =
10736

100 32000
33.55

 

108.(A) मयनय दक वतामयन कीमत x है। 

 अतः  x × 1.04 × 1.04 = 169 

 = =


169
156.25

1.04 1.04
x  

109.(C) एक नीबूं कय दवक्रर् मूल्य = 14/5 

 एक नीबूं कय क्रर् मूल्य = x 

 x = (14/5) × (10/14) = 2 
 अभीष्ट क्रर् मूल्य = 2 × 12 = 24 

110.(B) मयनय दक क्रर् मूल्य = 100 

 दवक्रर् मूल्य1 = 100 × 0.8 = 80 

 दवक्रर् मूल्य2 = 100 × 1.1 = 110 

 अब क्रर् मूल्य = (12/30) × 100 = 40 

111.(A)   =
1

20 10
2

B  

 B = 1 cm 

112.(D) िशा कय के्षििल = 8 × 6 = 48 मीटर2 

 दरी दवछयने की दर = 220

0.75
` /ehVj  

 कुल लयगत = ₹ 1280 

113.(D) + + = + + +
11 11 11

5 13 13 13
x y z

 

 + + =
1 1 1

4
x y z

 

114.(A) x = 1, y = 2 

 
+


+ +

4 8

9 64 48
 

 
12

121
 

115.(B) −

−

+ =
+ +

1 1
1

11 1
p q

p q
x

x

 

116.(D)  

  

 AD एक समदद्वभयजक कोण है। 

 अतः  =
AB AC

BD CD
 

 प्रश्नयनुसयर, 

 BD = CD 

 AB = AC 

117.(B)  
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 = −2 24AD r r  

 = √3r 

 r = 6 सेमी. 

 = 6 3AD  

118.(B)  

  

 


= +90
2

BAC
BIC  

 
− −

+
(180 60 50)

90
2

 

 = 125° 

119.(A) 2 sin 3 cos 2 = sin 3 

  =
1

cos 2
2

 

 2 = 60° 

  = 30° 

120.(A)  

 =

+2 2

2sin cos
2 2 sin

sin cos
2 2

A A

A
A A

 

121.(A) मयनय दक व्यर् 3x और 4x है।  

 2013 की आर् 

 = 1.6
3x

vk;
 

 आर् = 4.8 x 

 2014 की आर् 

 = 1.7
4x

vk;
 

 = 6.8 x 
 अनुपयत = 12 : 17 

122.(D) चँूदक हम आर् कय दनधयारण नही ं कर सकते हैं, इसदलए हम 

उत्तर ज्ञयत नही ंकर सकते हैं। 

123.(D) 2011 में कंपनी X की आर् = 42 × 1.4 = 58.8 

 2011 में कंपनी X कय व्यर् = 
−

=
2 58.8

5

x

x
 

 7x = 294; x = 42 

124.(D) हम खचा ज्ञयत नही ंकर सकते हैं। 

125.(D)  आर् कय अनुपयत = 1 : 1 ; और आर् x और x होगी।  

 2011 में X कय व्यर् = x/ व्यर् = 1.4 ; व्यर् = x/1.4 

 2011 में X कय व्यर् = x/ व्यर् = 1.2 ; व्यर् = x/1.2 
 अनुपयत = 1.2 : 1.4 ; 6 : 7 

126.(B)  अंतर = 5 

 मयनय दक पहली संख्यय x है। 

 तो, दूसरी संख्यय x + 5 होगय। 

 2x = 40; x = 20 
 संख्यय 20 और 25 है। 
 लघुत्तम समयपवर्त्ा = 100 

127.(A)  2, 6, 3 और 4 कय लघुत्तम समयपवर्त्ा 12 है। 

 अतः , (2)6, (3)2, (4)4, (5)3 

 सबसे बड़य (4)4 अियात, 3 4 है। 

128.(D)  12, 15, 18 और 27 कय लघुत्तम समयपवर्त्ा 

 12 = 3 × 22 ; 15 = 3 × 5 ; 18 = 2 × 32 ; 27 = 33 
 लघुत्तम समयपवर्त्ा = 33 × 5 × 22 = 540 

 केवल 9720, 540 से पूणातः  दवभयज्य है। 

129.(B)  टैंक की कुल क्षमतय 20 है। (4 और 5 कय लघुत्तम समयपवर्त्ा) 

टैप कय एक घंटय कय कयर्ा = 5 

 टैप + ररसयव कय एक घंटय कय कयर्ा = 4 

 ररसयव कय एक घंटय कय कयर्ा = 1 (खयली)  

 अभीष्ट समर् = =
20

20 hours
1

 घंटय 

130.(A)  मयनय दक स्थिर जल में नयव की गदत x दकमी./घंटय है।  

 11 = x + 1.5 
 x = 9.5 
 धयरय के प्रदतकुल गदत = 9.5 – 1.5 = 8 दकमी./घंटय 

131.(C)  पुरुर्ो ं और मदहलयओ ं की आरु् के मधर् अंतर = 48 महीने 

पुरुर्ो ंकी कुल आरु् = 39 - 4 = 35 वर्ा  

 पुरुर्ो ंकी औसत आरु् = =
35 2

11 years
3 3

 वर्ा 

132.(D)  मयनय दक 3 वर्ा पहले जनसंख्यय x िी। 

 अतः  = =
3

9261
So, 8000

(1.05)
x  

133.(B)  30 × 25 × h = 40 × 5 

 =


400

3 5
h सेमी. 

 = =
80

26.66
3

h  सेमी. 

134.(C)  दूध = 80 × 0.1 = 8 

 पयनी = 72 

 मयनय दक x लीटर पयनी दमलयर्य जयतय है।  

 
+

=
+

8 1

80 5

x

x
 

 40 + 5x = 80 + x 
 x = 10 
135.(B)  A = 1750 × 1.08 × 1.08 = 2041.2 

136.(D)  मयनय दक खुदरय मूल्य (एमआरपी) x है। 

 x × .9 × 1.08 = 729 
 x = 750 

137.(A)  


=
 2

2 264

924

rh

r h
 

 d :h = 14 : 6 ; = 7 : 3 

 


= =
924 2

7
264

r  

 h = 6 
138.(D)   

139.(C)  ( )= +
2

5 3x  

 
( )−

= + =
5 31

5 3 ,
2

x
x

 

 
−

+ = + +
1 5 3

5 3
2

x
x

 

 
+

=
3 5 3

2
 

140.(D)  
+

=
−

3

3

p x

q x
 

 
+

=
−

2 2

2 2

( 3)

( 3)

p x

q x
 

 
+ + + −

=
− + − −

2 2 2 2

2 2 2 2

( 3) ( 3)

( 3) ( 3)

p q x x

p q x x
 

 
+ +

= =


2 22( 9) 9

2 6 6

x x

x x
 

141.(B)  
− −

 =  
( 2) 5 (5 2)

180 180
6 5

x

x
 

 x = 4 

142.(B)  मयनय की जीवय वृत्त कय व्ययस है।  

 तो, व्ययस = 10-1 सेमी  

 दिज्यय = 5-05 सेमी 
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 अतः  दिज्यय 5 से अदधक होगी। 

143.(C)  AOB = 2 APB 

144.(D)  
−

=
+

1 sin

1 sin

A

A
 

 

   
− −   

   = =
 

+ 
 

2

cos sin cos sin
2 2 2 2

cos
cos sin

2 2

A A A A

A A A
 

 
−

= = −
1 sin

sec tan
cos

A
A A

A
 

145.(C)  tan  = cot  = 1. 

146.(D)  व्यर् = आर् - लयभ 

 = 120 – 70 
 = 50 

  =  =
70

100 140%
50

ykHk izfr'kr  

147.(A)  कंपनी की आर् = व्यर् + लयभ 

 = 85 + 30 = 115 

  अभीष्ट अनुपयत = 115 : 85 = 23 : 17 

148.(C)  अभीष्ट औसत 

 
+ + + + +

= = 
40 55 50 70 30 75 320

53
6 6

 करोड 

149.(B)  व्यर् = आर् - लयभ 

 = (95 – 40) करोड 

 = 55 करोड 

 = 550000000 

150.(D)   अभीष्ट लयभ प्रदतशत 
−

=  =
70 50

100 40%
50

 

English Language   

151.(C)  Congregation (noun) means church, gathering. 
152.(B)  Calumniate (verb) means defame, smear. 
153.(B)  Sordid (adjective) means filthy, foul. 
154.(B)  Subservient (adjective) slavish, submissive. 
155.(A)  FRESHENER 
156.(C)  SUBSIDIARY 
157.(B)  ‘was’ in place of ‘were’ as singular subject ‘a pair’ is 

there. 
158.(A)  ‘had realised’ in place of ‘would have realised’ as 

sentence is in past tense. 
159.(C)  inhibited i.e. stop the flow. 
160.(A)  stood my ground i.e. to remain steadfast. 
161.(D)  Absence without permission 
162.(D)  To act recklessly or irresponsibly 
163.(A)  Dromomania 
164.(B)  Contagious 
165.(D)  No improvement 
166.(A)  ‘was hurrying’ is suitable here. 
167.(C)  The fence was jumped over by the horse. 
168.(B)  Let one tablespoonful of baking powder be added to 

the cake mixture to make the batter. 
169.(A)  SPRQ; S is the first statement as subsequence 

statements rely on the information provided by S. 
170.(B)  PSRQ; Q and 6 are linked, Q introduces the idea of 

printing press and 6 amplifies it. SRQ is a triple like 
as it chronologically traces how books were made 
throughout the ages. 

171.(C)  leaned 
172.(B)  down 
173.(D)  number 
174.(B)  a 
175.(D)  pile 
176.(A)  Forlorn (adjective) means desolate, miserable. 
177.(A)  Grotesque (adjective) means bizarre, fanciful. 
178.(B)  Wreck (verb) means ruin, destroy. 
179.(C)  Wrath (noun) means outrage, anger. 
180.(A)  ADULTERATION 

181.(C)  GRAVEYARD 
182.(A)  ‘had she’ in place of ‘she had’ is correct 

grammatically here. 
183.(C)  ‘on’ in place of ‘at’ as with ‘pouncing’, preposition 

‘on’ is used. 
184.(D)  set aside means to postpone for another time. 
185.(C)  moulded means shaped. 
186.(A)  To die 
187.(D)  To talk excessively 
188.(B)  Somnambulism 
189.(D)  Plagiarism 
190.(C)  With people – plural subject, plural verb should be 

used. 
191.(A)  ‘not last’ is correct here. 
192.(B)  The girl is learning Differential Calculus. 
193.(B)  Who looks after John? 
194.(A)  RPSQ; 1 and R are link pair, 1 introduces the idea 

of illness and R elaborates it. 
195.(C)  SRQP; SR is the link pair, S tells that she is fretting 

and R tells the reason. P and 6 are link pair since 
they talk about situation that could occur due to the 
traffic jam. 

196.(D)  gentle 
197.(C)  transferred 
198.(D)  care 
199.(D)  because 
200.(A)  praised 
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